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Aä`{W©`m| Ho$ {bE {ZX}e

	 1.	 àíZ-nwpñVH$m {_bVo hr _wI n¥îR> Ed§ A§{V_ n¥îR> _| {XE JE {ZX}em| H$mo AÀN>r 
Vah n‹T> b| Ÿ& àíZ nwpñVH$m _| bJr grb H$mo drjH$ Ho$ H$hZo go nyd© Z Imob| Ÿ&

	 2.	 D$na {XE hþE {ZYm©[aV ñWmZm| _| AnZm AZwH«$_m§H$, CÎma-nwpñVH$m H$m H«$_m§H$ {bI| VWm 
AnZo hñVmja H$a| Ÿ&

	 3.	 Amo.E_.Ama. CÎma-erQ> _| g_ñV à{dpîQ>`m§ {X`o J`o {ZX}emZwgma H$a| AÝ`Wm CÎma-erQ> 
H$m _yë`m§H$Z Zht {H$`m OmEJm Ÿ&

	 4.	 grb ImobZo Ho$ ~mX gw{ZpíMV H$a b| {H$ àíZ-nwpñVH$m _| Hw$b n¥îR> D$na {bIo 
AZwgma {XE hþE h¢ VWm Cg_| g^r 200 àíZm| H$m _wÐU ghr h¡ Ÿ& {H$gr ^r àH$ma H$s 
Ìw{Q> hmoZo na 15 {_ZQ> Ho$ A§Xa drjH$ H$mo gy{MV H$a ghr àíZ-nwpñVH$m àmßV H$a| Ÿ&

	 5.	 àË`oH$ àíZ hoVw àíZ-nwpñVH$m _| àíZ Ho$ ZrMo {XE JE Mma {dH$ënm| _| go ghr/g~go 
Cn`wŠV Ho$db EH$ hr {dH$ën H$m M`Z H$a CÎma erQ> _| ghr {dH$ën dmbo Jmobo H$mo Omo 
Cg àíZ Ho$ gab H«$_m§H$ go gå~§{YV hmo H$mbo `m Zrbo ~m°b-ßdmBÊQ> noZ go ^a| Ÿ&

	 6.	 ghr CÎma dmbo Jmobo H$mo AÀN>r Vah go ^a|, AÝ`Wm CÎmam| H$m _yë`m§H$Z Zht hmoJm & BgH$s 
g_ñV {Oå_oXmar narjmWu H$s hmoJr &

	 7.	 àíZ-nwpñVH$m _| 200 dñVw{ZîR> àíZ {XE JE h¢ Ÿ& àË òH$ ghr CÎma hoVw 1 A§H$ Am~§{Q>V 
{H$`m J`m h¡ VWm JbV CÎma A§{H$V H$aZo na � A§H$ H$mQ>o Om |̀Jo &

	 8.	 àíZ-nwpñVH$m VWm CÎma-erQ> _| {Z{X©îQ> ñWmZm| na à{dpîQ>`m§ ^aZo Ho$ A{V[aŠV H$ht ^r 
Hw$N> Z {bI| Ÿ& AÝ`Wm OMR erQ> H$m _yë`m§H$Z Zht {H$`m Om`oJm &

	 9.	 narjm g_mpßV Ho$ CnamÝV Ho$db Amo.E_.Ama. CÎma-erQ> Ed§ àíZ nwpñVH$m H$s H$ìha noO 
drjH$ H$mo gm¢nZr h¡ & CÎma-erQ> H$s H$m~©Z H$m°nr VWm àíZ-nwpñVH$m narjmWu AnZo gmW 
bo Om gH$Vo h¢ &

	10.	 Bg àíZ- nwpñVH$m _| {ZåZ ^mJ hmoJ| :-
	 1.	 gm_mÝ` kmZ (150 A§H$)
	 (i)	 J{UV, {dkmZ, ^maVr` B{Vhmg, ^yJmob, ^maVr` AW©ì`dñWm, ^maVr` 

g§{dYmZ Ed§ amÁ` go gå~§{YV gm_mÝ` OmZH$mar &
	 (ii)	 dV©_mZ H$s g_gm_{`H$ KQ>ZmE± &
	 2.	 AÝ` (50 A§H$)
		  Amdí`H$ dñVw A{Y{Z`_ 1955, Cn^moŠVm g§ajU A{Y{Z`_ 2019, amîQ´>r` ImÚ 

gwajm A{Y{Z`_ 2013 Ed§ N>ÎmrgJ‹T>> ImÚ  Ed§ nmofU gwajm A{Y{Z`_ 2012 go 
g§~§{YV OmZH$mar, {dHo$ÝÐrH¥$V ImÚmÝZ CnmO©Z - N>ÎmrgJ‹T> _| g_W©Z _yë` na YmZ/
Mmdb H$m CnmO©Z Ed§ gmd©O{ZH$ {dVaU àUmbr Ho$ A§VJ©V {dVaU, N>ÎmrgJ‹T> 
_| ImÚ gwajm Am¡a gmd©^m¡_ nrS>rEg, N>ÎmrgJ‹T> _| nrS>rEg Ho$ A§VJ©V g§Mm{bV 
{d{^ÝZ `moOZmE± VWm H$åß`yQ>a H$m gm_mÝ` kmZ &

11.	 `{X A§J«oOr ^mfm _| H$moB© g§Xoh h¡, Vmo {hÝXr ^mfm H$mo hr àm_m{UH$ _mZm Om òJm Ÿ&

instructionS To candidates
	 1.	 Immediately after getting the booklet read instructions carefully, 

mentioned on the front and back page of the question booklet and do 
not open the seal given on the question booklet, unless asked by the 
invigilator.

	 2.	 Write your Roll No., Answer-Sheet No., in the specified places given 
above and put your signature.

	 3.	 Make all entries in the OMR Answer-Sheet as per the given instructions 
otherwise Answer-Sheet will not be evaluated.

	 4.	 After opening the seal, ensure that the Question Booklet contains 
total no. of pages as mentioned above and printing of all the 
200 questions is proper. If any discrepancy is found, inform the 
invigilator within 15 minutes and get the correct booklet.

	 5.	 While answering the question from the Question Booklet, for each 
question choose the correct/most appropriate options out of four options 
given, as answer and darken the circle provided against that option in the 
OMR Answer-Sheet, bearing the same serial number of the question. 
Darken the circle only with Black or Blue ball point pen.

	 6.	 Darken the circle of correct answer properly otherwise answers will not 
be evaluated. The candidate will be fully responsible for it.

	 7.	 There are 200 objective type questions in this Question Booklet.  
1 mark is allotted for each correct answer and � mark will be 
deducted for each wrong answer.

	 8.	 Do not write anything anywhere in the Question Booklet and the Answer-
Sheet except making entries in the specified places otherwise OMR 
sheet will not be evaluated.

	 9.	 After completion of the examination, only OMR Answer Sheet and cover 
page of question booklet is to be handed over to the invigilator. Carbon 
copy of the Answer Sheet and Question Booklet may be taken away by 
the examinee.

	10.	 This Question Booklet consists of Parts namely :-
	 1.	 General Knowledge (150 Marks)
	 (i)	 Mathematics, Science, Indian History, Geography, Indian 

Economy, Indian Constitution and General Knowledge of State.

	 (ii)	 Current Affairs.
	 2.	O ther (50 Marks) 
		  Essential Commodity Act 1955, Consumer Protection Act 2019, 

National Food Security Act 2013 and Chhattisgarh Food and Nutrition 
Security Act 2012 related Knowledge, decentralized food procurement 
– rice procurement on support price in Chhattisgarh and distribution 
under public distribution system and Chhattisgarh Food Security 
and sovereign PDS, PDS driven different plans in Chhattisgarh and 
General Knowledge of Computer.

	11.	 In case of any ambiguity in English version the Hindi version shall be 
considered authentic.
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	 02223/GE – GJ/RCE – M

	 -3-	 Set-A

PART – 1 / ^mJ - 1
General Knowledge / gm_mÝ` kmZ 

	 1.	 If the unit digit in the product of 
459 � 46 � 28 ∗ � 484 is 2, the digit 
in place of ∗ is

	 (A)	 9
	 (B)	 7
	 (C)	 3
	 (D)	 None of the above

	 2.	 Find the smallest whole number 
which is exactly divisible by 

1
1
3

2
1
4

3
1
2

, ,  and 4
1
5

.

	 (A)	 322	 (B)	 154
	 (C)	 252	 (D)	 None of the above

	 3.	 There are two electrical wires, one is  
9 m 60 cm long aluminium wire and the 
other is 5 m 12 cm long copper wire. 
Find the maximum length that can be 
equally cut from each wire in such a 
way that total length of each wire is 
exactly divisible by it.

	 (A)	 40 meter	 (B)	 46 cm
	 (C)	 64 cm	 (D)	 60 meter

	 4.	 0.1th and 5
8

th of a bamboo are in 

		  mud and water respectively and the rest 
of the length 2.75 m is above water. 
What is the total length of bamboo ?

	 (A)	 30 meter	 (B)	27.5 meter
	 (C)	 10 meter	 (D)	None of the above

	 1.	 `{X 459 � 46 � 28 ∗ � 484 Ho$ JwUZ\$b Ho$ 
BH$mB© Ho$ ñWmZ na A§H$ 2 h¡, Vmo ∗ Ho$ ñWmZ na 
A§H$ hmoJm 

	 (A)	 9
	 (B)	 7
	 (C)	 3
	 (D)	 CnamoŠV _| go H$moB© Zht

	 2.	 dh g~go N>moQ>r nyU© g§»`m kmV H$amo {Ogo 

1
1
3

2
1
4

3
1
2

, ,  Am¡a 4
1
5

 go nyU© ^mJ {X`m Om 

		  gHo$ &

	 (A)	 322	 (B)	 154
	 (C)	 252	 (D)	 CnamoŠV _| go H$moB© Zht

	 3.	 Xmo {~Obr Ho$ Vma EH$ 9 _r 60 go_r bå~m  

Eë ỳ{_{Z`_ H$m Ed§ Xÿgam 5 _r 12 go_r bå~m Vm§~o H$m  

h¡ & dh A{YH$V_ bå~mB© XmoZm| Vmam| H$s kmV H$amo 

{H$ Cg bå~mB© Ho$ Qw>H$‹S>o H$aZo na àË`oH$ Vma H$s 

Hw$b bå~mB© H$mo Cggo ^mJ {X`m Om gHo$ &

	 (A)	 40 _rQ>a	 (B)	 46 go_r
	 (C)	 64 go_r	 (D)	 60 _rQ>a

	 4.	 {H$gr ~m§g Ho$ S>§S>o H$m 0.1 dm± ^mJ Ed§ 5
8

dm± 

		  ^mJ H«$_e: H$sM‹S>> Am¡a nmZr _| Sw>~m hþAm h¡ VWm 
~Mm hþAm 2.75 _rQ>a nmZr Ho$ D$na h¡, Vmo ~m§g 
S>§S>o H$s Hw$b bå~mB© hmoJr 

	 (A)	 30 _rQ>a	 (B)	 27.5 _rQ>a
	 (C)	 10 _rQ>a	 (D)	 CnamoŠV _| go H$moB© Zht

(i) (i)
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	 5.	
3420
19 0 01

7= ×
?
.

 

		  The number at the place of ? is 

	 (A)	 35
9

	 (B)	 63
5

	 (C)	 18
7

	 (D)	 None of these

	 6.	 5 years ago, Ashu’s mother was three 
times as old as Ashu. After 5 years, 
she will be twice as old as Ashu. How 
old is Ashu today ?

	 (A)	 35 years	 (B)	 10 years
	 (C)	 20 years	 (D)	 15 years

Direction (7 – 9) : The following table gives 
% of marks obtained by 7 different students 
in six subjects. The numbers in brackets give 
the maximum marks in each subject. 

Subject 
 (Max.

Marks)

Students 

Maths  
(150) 

Chemistry 
(130)

Physics 
(120)

Geography 
(100)

History 
(60)

Comp. 
Science 

(40)

Reshma 90 50 90 60 70 80

Monisha 100 80 80 40 80 70

Akshaya 90 60 70 70 90 70

Vignesh 80 65 80 80 60 60

Akhilesh 80 65 85 95 50 90

Prakash 70 75 65 85 40 60

Jagadesh 65 35 50 77 80 80

	 7.	 What was the aggregate marks 
obtained by Akshaya in all the six 
subjects ?

	 (A)	 409	 (B)	 449
	 (C)	 429	 (D)	 439

	 5.	
3420
19 0 01

7= ×
?
.  

		  "?' H$s OJh na g§»`m hmoJr 

	 (A)	 35
9

	 (B)	 63
5

	 (C)	 18
7

	 (D)	 BZ_| go H$moB© Zht

	 6.	 nm±M gmb nhbo Amew H$s _m± H$s C_« Amew H$s C_« go 
VrZ JwZm Wr & nm±M gmb ~mX CgH$s C_« Amew H$s C_« 
H$s XþJwZr hmoJr & Amew H$s C_« AmO Š`m hmoJr ?

	 (A)	 35 df©	 (B)	 10 df©
	 (C)	 20 df©	 (D)	 15 df©

{ZX}e (7 – 9) :  ZrMo {XE JE Vm{bH$m _| gmV {dÚm{W©`m| 
Ho$ N>h (six) {df`m| Ho$ à{VeV A§H$ {X`o h¢ & H$moîR>H$ _| 
{XE J`o A§H$ Cg {df` Ho$ _hÎm_ A§H$ h¡ & 

Subject 
 (Max.

Marks)

Students 

Maths  
(150) 

Chemistry 
(130)

Physics 
(120)

Geography 
(100)

History 
(60)

Comp. 
Science 

(40)

Reshma 90 50 90 60 70 80

Monisha 100 80 80 40 80 70

Akshaya 90 60 70 70 90 70

Vignesh 80 65 80 80 60 60

Akhilesh 80 65 85 95 50 90

Prakash 70 75 65 85 40 60

Jagadesh 65 35 50 77 80 80

	 7.	 Aj` Ûmam g^r N>h (six) {df`m| _| nmE J`o Hw$b 
A§H$ h¢  

	 (A)	 409	 (B)	 449
	 (C)	 429	 (D)	 439
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	 8.	 What is the overall percentage of 
Jagadesh ?

	 (A)	 52.5 	 (B)	 55
	 (C)	 60	 (D)	 63

	 9.	 The number of students who 
obtained 60% and above marks in all 
the subjects is 

	 (A)	 1	 (B)	 3
	 (C)	 4	 (D)	 2

	 10.	 A man bought an article and sold it at 
the gain of 5%. If he had bought at 5% 
less and sold it for ` 1 less, he would 
have made a profit of 10%. Cost price 
of the article is 

	 (A)	 ` 100
	 (B)	 ` 200
	 (C)	 ` 150
	 (D)	 None of the above 

	 11.	 A fruit seller makes a profit of 20% by 
selling oranges at a certain price. If 
he charges ` 1.2 higher per orange, 
he would have gain 40%. The original 
price at which he sold an orange is 

	 (A)	 ` 5
	 (B)	 ` 6
	 (C)	 ` 7.2 
	 (D)	 None of the above 

	 12.	 The compound interest on ` 16,000 
at 20% per annum for 9 months, 
compounded quarterly is 

	 (A)	 ` 2,450
	 (B)	 ` 2,500
	 (C)	 ` 2,522 
	 (D)	 None of the above

	 8.	 OJXoe H$m Hw$b à{VeV {H$VZm h¡ ? 

	 (A)	 52.5 	 (B)	 55
	 (C)	 60	 (D)	 63

	 9.	 CZ {dÚm{W©`m| H$s g§»`m {OÝhm|Zo g^r {df`m| _| 
60% `m Cggo A{YH$ A§H$ àmßV {H$E h¢ 

	 (A)	 1	 (B)	 3
	 (C)	 4	 (D)	 2

	 10.	 EH$ ì`pŠV Zo EH$ dñVw IarXr Am¡a Cgo 5% bm^  
go ~oM {X`m & `{X CgZo 5% H$_ _yë` _| IarXm 
hmoVm Am¡a ` 1 H$_ ~oMm hmoVm, Vmo Cgo 10% bm^  
{_bm hmoVm & Cg dñVw H$m H«$` _yë` hmoJm 

	 (A)	 ` 100
	 (B)	 ` 200
	 (C)	 ` 150
	 (D)	 CnamoŠV _| go H$moB© Zht 

	 11.	 EH$ \$b ~oMZo dmbm AnZo g§Vao EH$ H$s_V go ~oMZo 
na 20% bm^ H$_mVm h¡ & ̀ {X dh àË`oH$ g§Vao H$s  
` 1.2 A{YH$  H$s_V bJmVm h¡, Vmo Cgo 40% H$m  
bm^ hmoJm & g§Vao H$s dh H$s_V {Og_| CgZo Cgo 
nhbo ~oMm h¡ 

	 (A)	 ` 5
	 (B)	 ` 6
	 (C)	 ` 7.2
	 (D)	 CnamoŠV _| go H$moB© Zht 

	 12.	 ` 16,000 na 9 _hrZo H$m 20% à{V df© H$s Xa 
go MH«$d¥{Õ ã`mO hmoJm, O~{H$ Ì¡_m{gH$ MH«$d¥{Õ 
go JUZm H$s OmE 

	 (A)	 ` 2,450
	 (B)	 ` 2,500
	 (C)	 ` 2,522
	 (D)	 CnamoŠV _| go H$moB© Zht
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	 13.	 The value of the expression 

2
1
3

2
3
5

2
5
7

−





 −





 −







 

....... 2
997
999

−





  is equal to

	 (A)	 1
3

	

	 (B)	 997
3

	 (C)	
1001

3
	

	 (D)	 None of the above

	 14.	 Read the two statements given below 
and find which of the following is/are 
correct ?

	 I.	 7710312401 is divisible by 11.
	 II.	 173 is a prime number.

	 (A)	 Only I is true
	 (B)	 Only II is true
	 (C)	 Both I and II are true
	 (D)	 Neither I nor II is true

	 15.	 A number when divided by the sum 
of 555 and 445 gives two times their 
difference as quotient and 30 as 
remainder. The number is

	 (A)	 220030	
	 (B)	 22030
	 (C)	 1230	
	 (D)	 None of the above

	 13.	 ì`§OH$ 2
1
3

2
3
5

2
5
7

−





 −





 −





  

		  ....... 2
997
999

−





  H$m _mZ hmoJm

	 (A)	 1
3

	

	 (B)	 997
3

	 (C)	
1001

3
	 (D)	 CnamoŠV _| go H$moB© Zht

	 14.	 ZrMo {X`o Xmo H$WZm| H$mo n{‹T>`o Am¡a ~VmB`o {H$ 
H$m¡Z-gm {dH$ën ghr h¡ ?

	 I.	 7710312401, 11 go {d^m{OV hmoVm h¡ &
	 II.	 173 EH$ A^mÁ` g§»`m h¡ &

	 (A)	 Ho$db I ghr h¡	
	 (B)	 Ho$db II ghr h¡
	 (C)	 I Am¡a II XmoZm| ghr h¢
	 (D)	 Z hr I ghr h¡ Am¡a Z hr II ghr h¡ 

	 15.	 dh g§»`m {Ogo 555 Am¡a 445 Ho$ `moJ go ^mJ 
XoZo na CZHo$ A§Va H$m XþJwZm ̂ mJ\$b (quotient) 
Am¡a 30 eof àmßV hmoVm h¡ & dh g§»`m hmoJr

	 (A)	 220030	

	 (B)	 22030
	 (C)	 1230
	 (D)	 CnamoŠV _| go H$moB© Zht
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	 16.	 Sita deposited ` 5,000 at 10% simple 
interest for 2 years. How much more 
money will Sita have in her account at 
the end of 2 years, if it is compounded 
semi-annually ?

	 (A)	 ` 40
	 (B)	 ` 50.2
	 (C)	 ` 77.5
	 (D)	 None of the above 

	 17.	 The ratio of the number of sides of 
two regular polygons is 1 : 2.  If each 
interior angle of the first polygon is 
120°, then the measure of each interior 
angle of second polygon is 

	 (A)	 90°
	 (B)	 120°
	 (C)	 150°
	 (D)	 None of the above 

	 18.	 The length of the common chord of two 
circles of radii 15 cm and 20 cm whose 
centres are 25 cm apart, is 

	 (A)	 15 cm	 (B)	 20 cm
	 (C)	 24 cm	 (D)	 None of the above

	 19.	 A dishonest dealer professes to sell 
his goods at cost price but uses a 
weight of 960 gm for a Kg weight. 
Find his gain percent.

	 (A)	 4
1
6

% 	

	 (B)	 3
1
3

%

	 (C)	 4 % 	
	 (D)	 None of the above

	 16.	 grVm Zo 10%  gmYmaU ã`mO H$s Xa go ̀  5,000, 
2 df© Ho$ {b`o O_m {H$`o & CgHo$ ImVo _| Xmo 
df© níMmV² {H$VZm n¡gm A{YH$ O_m hmoJm `{X 
AÕ©dm{f©H$ MH«$d¥{Õ Xa hmo ?

	 (A)	 ` 40
	 (B)	 ` 50.2
	 (C)	 ` 77.5
	 (D)	 CnamoŠV _| go H$moB© Zht 	

	 17.	 Xmo ~hþ^wOm| H$s ^wOmAm| H$s g§»`m H$m AZwnmV  
1 : 2 h¡ & `{X nhbo ~hþ^wO H$m àË`oH$ AmÝV[aH$ 
H$moU 120° h¡, Vmo Xÿgao ~hþ̂ wO H$m àË òH$ AmÝV[aH$ 
H$moU hmoJm 

	 (A)	 90°
	 (B)	 120°
	 (C)	 150°
	 (D)	 CnamoŠV _| go H$moB© Zht 

	 18.	 Xmo d¥Îmm| H$s C^`{ZîR> Ordm H$s bå~mB©, {OZHo$ 
Ho$ÝÐ 25 go_r H$s Xÿar na hmo Am¡a {ÌÁ`mE± 15 go_r 
Am¡a 20 go_r hmo, hmoJr 

	 (A)	 15 go_r	 (B)	 20 go_r
	 (C)	 24 go_r	 (D)	 CnamoŠV _| go H$moB© Zht

	 19.	 EH$ ~oB©_mZ {dH«o$Vm CgH$s dñVw H$mo H«$` _yë` na 
~oMZo H$s dH$mbV H$aVm h¡ naÝVw EH$ {H$bmo H$s OJh 
960 J«m_ H$m ~m±Q> aIVm h¡, CgH$m bm^ à{VeV 
hmoJm  

	 (A)	 4
1
6

%

	 (B)	 3
1
3

%

	 (C)	 4 %
	 (D)	 CnamoŠV _| go H$moB© Zht 
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	 20.	 An employer reduces the number of 
his employees in the ratio 7 : 5 and 
increases their wages in the ratio  
10 : 9. His bill of total wages increases 
or decreases in the ratio 

	 (A)	 Decreases 13 : 9
	 (B)	 Decreases 14 : 9
	 (C)	 Increases 9 : 14	
	 (D)	 Increases 9 : 13

	 21.	 The value of a machine depreciates at 
the rate of 10% per annum. If its present 
value is ̀  1,62,000, then what will be its 
worth after/before 2 years ? 

	 (A)	 ` 3,00,000, ` 1,00,000
	 (B)	 ` 1,31,220, ` 2,00,000
	 (C)	 ` 1,50,000, ` 6,00,000
	 (D)	 None of the above

	 22.	 A man goes from Mysore to Bangalore 
at a uniform speed of 40 km/h and 
comes back to Mysore at a uniform 
speed of 60 km/h. His average speed 
for the whole journey is 

	 (A)	 48 km/h
	 (B)	 55 km/h
	 (C)	 58 km/h	
	 (D)	 None of the above

	 23.	 Average age of 6 sons of a family is  
8 years. Average age of son together 
with their parents is 22 years. If the 
father is older than the mother by  
8 years, then the age of mother (in 
years) is

	 (A)	 44	 (B)	 52

	 (C)	 60	 (D)	 68

	 20.	 EH$ {Z`moŠVm AnZo H$_©Mm[a`m| H$s g§»`m _| 7 : 5 
Ho$ AZwnmV _| H$Q>m¡Vr H$aVm h¡ Am¡a CZH$s _OXÿar 
10 : 9 Ho$ AZwnmV _| ~‹T>>mVm h¡ & CgH$s Hw$b _OXÿar 
H$m {~b ~‹T>>Zo `m KQ>Zo H$m AZwnmV hmoJm 

	 (A)	 KQ>oJm 13 : 9
	 (B)	 KQ>oJm 14 : 9
	 (C)	 ~‹T>>oJm 9 : 14
	 (D)	 ~‹T>oJm 9 : 13

	 21.	 {H$gr _erZ Ho$ Ad_yë`Z H$s Xa 10% à{V df©  
h¡ & `{X CgH$m dV©_mZ _yë` ` 1,62,000 h¡, Vmo 
2 df© níMmV²/nhbo CgHo$ _yë` hm|Jo 

	 (A)	 ` 3,00,000, ` 1,00,000
	 (B)	 ` 1,31,220, ` 2,00,000
	 (C)	 ` 1,50,000, ` 6,00,000
	 (D)	 CnamoŠV _| go H$moB© Zht

	 22.	 EH$ ì`pŠV _¡gya go ~¢Jbmoa 40 {H$_r/K§Q>m Ho$ doJ go 

OmVm h¡ Am¡a dm{ng _¡gya 60 {H$_r/K§Q>m go AmVm 

h¡ & CgH$s nyar `mÌm H$m Am¡gV doJ hmoJm

	 (A)	 48 {H$_r/K§Q>m
	 (B)	 55 {H$_r/K§Q>m
	 (C)	 58 {H$_r/K§Q>m
	 (D)	 CnamoŠV _| go H$moB© Zht

	 23.	 {H$gr n[adma Ho$ 6 ~ÀMm| H$s Am¡gV Am`w 8 df©  
h¡ & ~ÀMm| H$s CZHo$ _mVm-{nVm Ho$ gmW Am¡gV 
Am`w 22 df© h¡ & `{X {nVm-_mVm go 8 df© ~‹S>o h¡, 
Vmo _mVm H$s Am`w (dfm] _|) hmoJr 

	 (A)	 44	 (B)	 52

	 (C)	 60	 (D)	 68
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	 24.	 At present, Abir is 1.5 times of Pooja’s 
age. Eight years hence, the respective 
ratio between Abir and Pooja’s ages 
will be 25 : 18. What is Pooja’s present 
age ?

	 (A)	 28 years

	 (B)	 36 years

	 (C)	 42 years

	 (D)	 50 years

	 25.	 The value of 

17 51 152 289+ + +  is

	 (A)	 11

	 (B)	 9

	 (C)	 7

	 (D)	 5

	 26.	 Two stations A and B  are110 km apart 
on a straight line. One train starts from 
A at 7 am and travels towards B at  
20 km/h speed. Another train starts 
from B at 8 am and travels towards A 
at a speed of 25 km/h. At what time 
will they meet ?

	 (A)	 9 am

	 (B)	 10 am

	 (C)	 11 am

	 (D)	 None of the above

	 24.	 Am~ra H$s dV©_mZ Am ẁ nwOm H$s Am ẁ H$s 1.5 JwZm 
h¡ & AmR> gmb ~mX Am~ra Am¡a nwOm H$s Am`w H$m 
AZwnmV H«$_e: 25 : 18 hmoJm & nwOm H$s dV©_mZ 
Am`w ~VmB`o &

	 (A)	 28 df©

	 (B)	 36 df©
	 (C)	 42 df©
	 (D)	 50 df©

	 25.	 17 51 152 289+ + +  H$m _mZ 

		  hmoJm 

	 (A)	 11

	 (B)	 9

	 (C)	 7

	 (D)	 5

	 26.	 Xmo ñQ>oeZ A Am¡a B EH$ Xÿgao go grYr aoIm _|  
110 {H$_r Xÿa h¡ & EH$ Q´>oZ ñQ>oeZ A go gw~h  
7 ~Oo Ny>Q>Vr h¡ Am¡a ñQ>oeZ B H$s Va\$ 20 {H$_r 
à{V K§Q>m H$s J{V go MbVr h¡ & Xÿgar Q´>oZ 

		  ñQ>oeZ B go gw~h 8 ~Oo Ny>Q>H$a ñQ>oeZ A H$s Va\$ 
25 {H$_r à{V K§Q>m H$s J{V go MbVr h¡ & XmoZm| 
{H$VZo ~Oo {_b|Jr ?

	 (A)	 gw~h 9 ~Oo

	 (B)	 gw~h 10 ~Oo

	 (C)	 gw~h 11 ~Oo

	 (D)	 CnamoŠV _| go H$moB© Zht
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	 27.	 One third of a certain journey is 
covered at the rate of 25 km/h, one 
fourth at the rate of 30 km/h and the 
rest at 50 km/h. The average speed 
for the whole journey is 

	 (A)	 37
1
2

 km/hour

	 (B)	 33
1
3

 km/hour

	 (C)	 30 km/hour

	 (D)	 None of the above

	 28.	 The ratio of the number of sides in 
two regular polygons are as 5 : 4 and 
difference between their angles is 
6°. Then the number of sides in the 
polygon are 

	 (A)	 12, 16	 (B)	 12, 13 
	 (C)	 15, 12 	 (D)	 None of the above 

	 29.	 The area of a square park is 25 sq. km. 
The time taken to complete a round the 
field once at a speed of 3 km/h is 

	 (A)	 4 h 60 min	 (B)	 6 h 40 min 
	 (C)	 5 h 40 min 	 (D)	 None of these 

	 30.	 The  radius of a circle is 9 cm and 
length of one of its chords is 14 cm. 
Then, the distance of the chord from 
the centre is 

	 (A)	 4 cm 
	 (B)	 4 2  cm
	 (C)	 4 3  cm
	 (D)	 None of the above 

	 27.	 {H$gr `mÌm H$m EH$ {VhmB© amñVm 25 {H$_r/K§Q>m 
H$s J{V go, EH$ Mm¡WmB© amñVm 30 {H$_r/K§Q>m H$s 
J{V go Am¡a ~Mm hþAm {hñgm 50 {H$_r/K§Q>m H$s 
J{V go nyU© {H$`m OmVm h¡ & gånyU© ̀ mÌm H$s Am¡gV 
J{V hmoJr

	 (A)	 37
1
2

 {H$_r/K§Q>m

	 (B)	 33
1
3

 {H$_r/K§Q>m

	 (C)	 30 {H$_r/K§Q>m

	 (D)	 CnamoŠV _| go H$moB© Zht

	 28.	 {H$gr Xmo ~hþ ŵO H$s ̂ wOmAm| H$s g§»`m H$m AZwnmV  
5 : 4 h¡ Am¡a CZHo$ H$moUm| Ho$ ~rM A§Va 6° h¡, Vmo 
Cg ~hþ^wO H$s ^wOmAm| H$s g§»`m hmoJr 

	 (A)	 12, 16	 (B)	 12, 13
	 (C)	 15, 12	 (D)	 CnamoŠV _| go H$moB© Zht

	 29.	 dJm©H$ma ~JrMo H$m joÌ\$b 25 dJ© {H$_r h¡ & Cgo 
3 {H$_r à{V K§Q>o H$s Xa go EH$ MŠH$a bJmZo _| 
bJZo dmbm g_` hmoJm 

	 (A)	 4 K§Q>o 60 {_ZQ> 	(B)	 6 K§Q>o 40 {_ZQ
	 (C)	 5 K§Q>o 40 {_ZQ	 (D)	 BZ_| go H$moB© Zht

	 30.	 {H$gr d¥Îm H$s {ÌÁ`m 9 go_r h¡ Am¡a CgHo$ EH$ Ordm 
H$s bå~mB© 14 go_r h¡, Vmo Cg Ordm H$s Ho$ÝÐ go 
Xÿar hmoJr 

	 (A)	 4 go_r 
	 (B)	 4 2  go_r 
	 (C)	 4 3  go_r
 	 (D)	 CnamoŠV _| go H$moB© Zht 
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	 31.	 Shaving mirrors are

	 (A)	 Convex mirror

	 (B)	 Concave mirror
	 (C)	 Plane mirror
	 (D)	 All of the above

	 32.	 The focal length of a lens is 50 cm. Its 
power will be

	 (A)	 50 dioptre	 (B)	 2 dioptre
	 (C)	 20 dioptre	 (D)	 100 dioptre

	 33.	 Magnetic field in solenoid is
	 (A)	 Different in all points in solenoid

	 (B)	 Same at all points in solenoid
	 (C)	 Zero at all points
	 (D)	 Cannot be predicted

	 34.	 Half life of a radioactive substance 
depends upon 

	 (A)	 Amount of radioactive substance

	 (B)	 Temperature
	 (C)	 Pressure
	 (D)	 None of the above

	 35.	 Which pair of solution of salts are acidic 
in nature ?

	 (A)	 MgSO4 and Na2SO4

	 (B)	 CuSO4 and (NH4)2SO4

	 (C)	 CH3COONa and NH4Cl

	 (D)	 CH3COONH4 and NH4CN

	 31.	 Xm‹T>r ~ZmZo H$m Xn©U hmoVm h¡

	 (A)	 CÎmb Xn©U

	 (B)	 AdVb Xn©U

	 (C)	 g_Vb Xn©U

	 (D)	 CnamoŠV g^r

	 32.	 EH$ boÝg H$s \$moH$b bå~mB© 50 cm h¡ & BgH$s 
epŠV hmoJr 

	 (A)	 50 S>m°`ßQ>a	 (B)	 2 S>m°`ßQ>a
	 (C)	 20 S>m°`ßQ>a	 (D)	 100 S>m°`ßQ>a

	 33.	 n[aZm{bH$m _| Mwå~H$s` joÌ h¡

	 (A)	 n[aZm{bH$m Ho$ g^r {~ÝXþAm| na AbJ-AbJ

	 (B)	 n[aZm{bH$m Ho$ g^r {~ÝXþAm| na g_mZ

	 (C)	 g^r {~ÝXþAm| na eyÝ`

	 (D)	 AZw_mZ Zht bJm`m Om gH$Vm

	 34.	 ao{S>`moEpŠQ>d nXmW© H$s AY© Am`wH$mb {Z^©a 
H$aVr h¡

	 (A)	 ao{S>`moEpŠQ>d nXmW© H$s _mÌm

	 (B)	 VmnH«$_
	 (C)	 Xm~
	 (D)	 CnamoŠV _| go H$moB© Zht

	 35.	 bdUm| Ho$ {db`Zm| H$m H$m¡Z-gm ̀ w½_ Aåbr` àH¥${V 
H$m h¡ ?

	 (A)	 MgSO4 Ed§ Na2SO4

	 (B)	 CuSO4 Ed§ (NH4)2SO4

	 (C)	 CH3COONa Ed§ NH4Cl

	 (D)	 CH3COONH4 Ed§ NH4CN
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	 36.	 The valency shell of element A contains 
3 electrons while the valency shell of 
element B contains 6 electrons, the 
probable formula of compound formed 
between A and B is

	 (A)	 AB2	 (B)	 A3B6

	 (C)	 A6B3	 (D)	 A2B3

	 37.	 The amount of which of the following 
declines in atmosphere due to 
chlorofluorocarbon ?

	 (A)	 Carbon dioxide

	 (B)	 Ozone

	 (C)	 Oxygen

	 (D)	 All of the above

	 38.	 The function of which of the following 
organ is done by dialysis ?

	 (A)	 Liver	 (B)	 Heart

	 (C)	 Kidney	 (D)	 Lungs

	 39.	 Who amongst the following 
propagated the laws of inheritance of 
characters ?

	 (A)	 Darwin

	 (B)	 Mendel

	 (C)	 Lemark

	 (D)	 Hugo de Vries

	 36.	 VËd A Ho$ g§`moÁ` H$moe _| 3 BboŠQ´>mZ h¡ O~{H$ 

VËd B Ho$ g§`moÁ` H$moe _| 6 BboŠQ´>mZ h¡, A Ed§ 

B Ho$ _Ü` ~ZZo dmbo `m¡{JH$ H$m g§^m{dV gyÌ h¡

	 (A)	 AB2	 (B)	 A3B6

	 (C)	 A6B3	 (D)	 A2B3

	 37.	 ŠbmoamoâbwamoH$m~©Z Ho$ H$maU dm`w_§S>b _| {ZåZ _| go 
{H$gH$s _mÌm _| {JamdQ> AmVr h¡ ?

	 (A)	 H$m~©Z S>mBAmŠgmBS>

	 (B)	 AmoµOmoZ

	 (C)	 AmŠgrOZ

	 (D)	 CnamoŠV g^r

	 38.	 {ZåZ _| go {H$g A§J H$m H$m`© AnmohZ Ûmam {H$`m 
OmVm h¡ ?

	 (A)	 `H¥$V	 (B)	 öX`

	 (C)	 d¥ŠH$	 (D)	 \w$â\w$g

	 39.	 bjUm| H$s d§emJ{V H$m {Z`_ {ZåZ _| go {H$gZo 
à{Vnm{XV {H$`m h¡ ?

	 (A)	 S>m{d©Z

	 (B)	 _oÊS>b

	 (C)	 bo_mH©$

	 (D)	 øyJmo S>r d«rg
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	 40.	 Amount of oxygen normally carried by 
100 ml of blood is

	 (A)	 40 ml

	 (B)	 10 ml

	 (C)	 20 ml

	 (D)	 50 ml

	 41.	 Minamata disease is caused due to 
water pollution of

	 (A)	 Arsenic oxide

	 (B)	 Methyl isocyanate

	 (C)	 Mercuric chloride

	 (D)	 Lead tetrachloride

	 42.	 Refractive Index is maximum for which 
of the following medium ?

	 (A)	 Air

	 (B)	 Water

	 (C)	 Rock salt

	 (D)	 Diamond

	 43.	 Water is used as a coolant because 
of its

	 (A)	 Lower density

	 (B)	 High specific heat

	 (C)	 Low specific heat

	 (D)	 Freezing point 0°C

	 40.	 gm_mÝ`V: 100 ml aŠV _| AmŠgrOZ H$s _mÌm 
hmoVr h¡

	 (A)	 40 ml

	 (B)	 10 ml

	 (C)	 20 ml

	 (D)	 50 ml

	 41.	 {_Zm_mQ>m amoJ Ob àXÿfU Ho$ {ZåZ Ho$ H$maU go  
hmoVm h¡

	 (A)	 Amg}{ZH$ AmŠgmB©S>

	 (B)	 {_WmB©b AmBgmogm`ZoQ>

	 (C)	 _aŠ`y[aH$ ŠbmoamB©S>

	 (D)	 boS> Q>oQ´>mŠbmoamB©S>

	 42.	 {ZåZ _| go {H$g _mÜ`_ Ho$ {bE AndV©Zm§H$ 
gdm©{YH$ hmoVm h¡ ?

	 (A)	 dm`w

	 (B)	 Ob

	 (C)	 I{ZO Z_H$

	 (D)	 hram

	 43.	 Ob H$m Cn`moJ erVbH$ Ho$ ê$n _| hmoVm h¡, Š`m|{H$ 
BgH$m _______ hmoVm h¡ &

	 (A)	 {ZåZ KZËd

	 (B)	 CÀM {d{eîQ> D$î_m

	 (C)	 {ZåZ {d{eîQ> D$î_m

	 (D)	 {h_m§H$ {~ÝXþ 0°C
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	 44.	 Match List – I with List – II and select 
the correct answer using following 
codes.

	 	L ist – I		L  ist – II

	 a.	 Astronomical	 1.	 1.6 × 10–13 J
		  unit

	 b.	 Light year	 2.	 10–6 m

	 c.	 Angstrom unit	 3.	 10–10 m

	 d.	 Micron	 4.	 9.46 × 1015 m

	 e.	 One MeV	 5.	 1.5 × 1011 m

	 	 a	 b	 c	 d	 e

	 (A)	 5	 4	 3	 2	 1

	 (B)	 1	 2	 3	 4	 5

	 (C)	 3	 4	 1	 2	 5

	 (D)	 1	 3	 5	 2	 4

	 45.	 A resistance wire of 4 ohm releases 
100 Js–1 heat. The potential difference 
between two ends of resistance wire is

	 (A)	 25 volts

	 (B)	 10 volts

	 (C)	 20 volts 

	 (D)	 5 volts

	 46.	 Electrical resistivity is maximum for 
which of the following at 20° C ?

	 (A)	 Copper
	 (B)	 Aluminium
	 (C)	 Tungsten

	 (D)	 Nichrome

	 44.	 gyMr – I H$mo gyMr – II go gw_o{bV H$a {ZåZ H$moS> 
H$s ghm`Vm go ghr CÎma M`{ZV H$s{OE &

	 	 gyMr – I		  gyMr – II

	 a.	 IJmobr` BH$mB©	 1.	 1.6 × 10–13 J

	 b.	 àH$me df©	 2.	 10–6 m
	 c.	 Am|JñQ´>m_ BH$mB©	 3.	 10–10 m

	 d.	 _m°BH«$mZ	 4.	 9.46 × 1015 m

	 e.	 EH$ MeV	 5.	 1.5 × 1011 m

	 	 a	 b	 c	 d	 e

	 (A)	 5	 4	 3	 2	 1
	 (B)	 1	 2	 3	 4	 5

	 (C)	 3	 4	 1	 2	 5

	 (D)	 1	 3	 5	 2	 4

	 45.	 4 Amo_ H$m EH$ à{VamoYH$ Vma 100 Js–1 D$î_m 
_wŠV H$aVm h¡, à{VamoYH$ Vma Ho$ XmoZm| {gam| na 
{d^dmÝVa h¡

	 (A)	 25 dmoëQ
>	 (B)	 10 dmoëQ>

	 (C)	 20 dmoëQ>

	 (D)	 5 dmoëQ>

	 46.	 20° C na gdm©{YH$ d¡ÚwV à{VamoYH$Vm {ZåZ _| go 
{H$gH$s hmoVr h¡ ?

	 (A)	 H$m°na
	 (B)	 Eë`y{_{Z`_
	 (C)	 Q>§JñQ>Z

	 (D)	 {ZH«$mo_
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	 47.	 The number of co-valent bond found 
in ethane are

	 (A)	 05

	 (B)	 06

	 (C)	 07

	 (D)	 08

	 48.	 Which of the following metal shows 
maximum relative reactivity ?

	 (A)	 Potassium

	 (B)	 Iron

	 (C)	 Copper

	 (D)	 Sodium

	 49.	 Where do the energy-capturing 
reactions of photosynthesis occur ?

	 (A)	 Plasma membrane

	 (B)	 Cytoplasm
	 (C)	 Stroma
	 (D)	 Thylakoids

	 50.	 In the presence of Lactase, lactose 
breaks down into molecules of

	 (A)	 Glucose and galactose
	 (B)	 Glucose and fructose
	 (C)	 Glucose and sucrose
	 (D)	 Glucose only

	 47.	 BWoZ _| nm ò OmZo dmbo gh-g§̀ moOH$ Am~§Y hmoVo h¢ 

	 (A)	 05

	 (B)	 06

	 (C)	 07

	 (D)	 08

	 48.	 {ZåZ _| go H$m¡Z-gr YmVw gdm©{YH$ gmnoj 
A{^{H«$`merbVm àX{e©V H$aVr h¡ ?

	 (A)	 nmoQ>¡{e`_

	 (B)	 Am`aZ

	 (C)	 H$m°na

	 (D)	 gmo{S>`_

	 49.	 àH$me g§íbofU H$m COm©-J«hU A{^{H«$`m H$hm± 
hmoVr h¡ ?

	 (A)	 ßbmÁ_m _oå~aoZ _|
	 (B)	 gm`Q>moßbmñ_ _|

	 (C)	 ñQ´>mo_m _|
	 (D)	 Wm`bmH$mo`°S> _|

	 50.	 boŠQ>og H$s CnpñW{V _|, boŠQ>moO H$m AUwAm| _| 
{dIpÊS>V hmoVm h¡

	 (A)	 ½byH$moO Ed§ J¡boŠQ>moO _|
	 (B)	 ½byH$moO Ed§ \«w$ŠQ>moO _|
	 (C)	 ½byH$moO Ed§ gyH«$moO _|
	 (D)	 Ho$db ½byH$moO _|
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	 51.	 Blood groups in human were  
discovered by

	 (A)	 Mendel
	 (B)	 Francis Nelson
	 (C)	 S. Miller
	 (D)	 Karl Landsteiner

	 52.	 Consider following statements :
		  Roasting is carried out to

	 1.	 Convert sulphide ore into oxide

	 2.	 Melt the ore
	 3.	 Remove moisture, water of 

hydration and organic matter
	 4.	 Reduction of ore by carbon
	 5.	 Remove sulphur and arsenic in 

form of volatile oxide

		  Correct statements are

	 (A)	 1, 3 and 5	 (B)	 2, 3 and 4

	 (C)	 3, 4 and 5	 (D)	 1, 2 and 4

	 53.	 The mass of a tablet of aspirin is  

50 mg. How many moles of aspirin are 

present in 5 tablets of aspirin ? 

		  (Molecular mass of aspirin = 169)

	 (A)	 2.96×10–2	 (B)	 1.48×10–3

	 (C)	 5.0×10–3	 (D)	 1.69×10–3

	 51.	 _mZd Ho$ aŠV g_yh H$m Am{dîH$ma {H$`m J`m

	 (A)	 _¡ÊS>ob Ûmam
	 (B)	 \«$mpÝgg ZoëgZ Ûmam
	 (C)	 Eg. {_ba Ûmam

	 (D)	 H$mb© b¡ÊS>ñQ>oZa Ûmam

	 52.	 {ZåZ H$WZm| na {dMma H$s{O`o :

		  ^O©Z {H$`m OmVm h¡

	 1.	 gë\$mB©S> A`ñH$ H$mo AmŠgmB©S> _| n[ad{V©V 
H$aZo _|

	 2.	 A`ñH$ H$mo {nKbmZo _|
	 3.	 Z_r, Ob H$m Ob ̀ moOZ Ed§ H$m~©{ZH$ nXmW© 

Ho$ {ZîH$mgZ _|
	 4.	 A`ñH$ H$m H$m~©Z Ûmam AdH$aU _|
	 5.	 gë\$a Ed§ Amg}{ZH$ Ho$ dmînerb AmŠgmB©S> 

Ho$ ê$n _| {ZîH$mgZ _|

		  ghr H$WZ h¢ 

	 (A)	 1, 3 Ed§ 5	 (B)	 2, 3 Ed§ 4

	 (C)	 3, 4 Ed§ 5	 (D)	 1, 2 Ed§ 4

	 53.	 EñnrarZ Ho$ EH$ Q>o~boQ> H$s _mÌm 50 mg h¡ & 

EñnrarZ Ho $5 Q>o~boQ> _| EñnrarZ Ho$ {H$VZo _mobm| 

H$s g§»`m CnpñWV h¡ ?

		  (EñnrarZ H$s AmU{dH$ _mÌm = 169)

	 (A)	 2.96×10–2	 (B)	 1.48×10–3

	 (C)	 5.0×10–3	 (D)	 1.69×10–3
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	 54.	 a Zn + b HNO3 → c Zn(NO3)2 + 

NH4NO3 + d H2O 

		  The values of a, b, c and d are

	 	 a	 b	 c	 d

	 (A)	 1	 8	 4	 4

	 (B)	 2	 6	 5	 2

	 (C)	 4	 10	 4	 3

	 (D)	 1	 2	 2	 5

	 55.	 Among the following which are 
mismatched ?

	 a.	 Silver – Best conductor of 		
        electricity

	 b.	 Sound waves –   Shows 		
	                polarization

	 c.	 Resistance of human body –  
106 ohm

	 d.	 TV remote – Microwave

	 e.	 Radiation strongly absorbed by 
plants – Blue and red light

	 (A)	 a and b	 (B)	 b and d

	 (C)	 c and e	 (D)	 a and e

	 56.	 Methylated spirit contains

	 (A)	 40% to 50% methanol

	 (B)	 5% to 10% methanol

	 (C)	 10% to 15% methanol

	 (D)	 20% to 25% methanol

	 54.	 a Zn + b HNO3 → c Zn(NO3)2 + 

NH4NO3 + d H2O 

		  a, b, c Ed§ d Ho$ _mZ h¢

	 	 a	 b	 c	 d

	 (A)	 1	 8	 4	 4

	 (B)	 2	 6	 5	 2

	 (C)	 4	 10	 4	 3

	 (D)	 1	 2	 2	 5

	 55.	 {ZåZ Ho$ _Ü` H$m¡Z gw_o{bV Zht h¢ ?

	 a.	 {gëda - {dÚwV H$m CÎm_ MmbH$

	 b.	 Üd{ZVa§J - Y«wdU àX{e©V H$aVm h¡

	 c.	 _mZd eara H$m à{VamoY - 106 Amo_

	 d.	 Q>rdr [a_moQ> - gyú_Va§J

	 e.	 dZñn{V Ûmam à~bVm go Ademo{fV {d{H$aU 
- Zrbm Ed§ bmb àH$me

	 (A)	 a Ed§ b	 (B)	 b Ed§ d

	 (C)	 c Ed§ e	 (D)	 a Ed§ e

	 56.	 _oWrboQ>oS> pñn[aQ>> _| ahVm h¡

	 (A)	 40% go 50% _oWoZm°b

	 (B)	 5% go 10% _oWoZm°b

	 (C)	 10% go 15% _oWoZm°b

	 (D)	 20% go 25% _oWoZm°b
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	 57.	 {ZåZ _| go H$m¡Z EH$ H$m à`moJ AmQ>mo_mo~mB©b B§OZ 
_| àerVH$amoYr Ho$ ê$n _| hmoVm h¡ ?

	 (A)	 àmo{nb EëH$mohb

	 (B)	 E{Wb EëH$mohb

	 (C)	 EWrbrZ ½bmB©H$m°b

	 (D)	 ã`y{Q>b EëH$mohb

	 58.	 {ZåZ _| go H$m¡Z EH$ amgm`{ZH$ A{^{H«$`m Ho$ hmoZo 
H$m {ZYm©aU H$aVm h¡ ?

	 (A)	 a§J _| n[adV©Z

	 (B)	 J¡g H$m CËgO©Z

	 (C)	 Vmn_mZ _| n[adV©Z

	 (D)	 CnamoŠV g^r

	 59.	 ~«m`mo{\$b_ {ZåZ _o§ go {H$gH$m CXmhaU h¡ ?

	 (A)	 {dI§S>Z

	 (B)	 _wHw$bZ

	 (C)	 H$m{`H$ àdY©Z

	 (D)	 nwZO©ZZ

	 60.	 Kmg Ho$ _¡XmZ Ho$ nm[aV§Ì _| {ZåZ _| go H$m¡Z {ÛVr`H$ 

Cn^moŠVm h¡ ?

	 (A)	 {Q>È>m	 (B)	 _|T>H$

	 (C)	 gm±n	 (D)	 {JÕ

	

	 57.	 Which one of the following is used as 
antifreeze in automobile engine ?

	 (A)	 Propyl Alcohol

	 (B)	 Ethyl Alcohol

	 (C)	 Ethylene Glycol

	 (D)	 Butyl Alcohol

	 58.	 Which of the following determines the 
occurrence of a chemical reaction ?

	 (A)	 Change in colour

	 (B)	 Evolution of a gas

	 (C)	 Change in temperature

	 (D)	 All of the above

	 59.	 Bryophyllum is an example of which 

of the following ?

	 (A)	 Fission

	 (B)	 Budding

	 (C)	 Vegetative propagation

	 (D)	 Regeneration

	 60.	 Who amongst the following is a 
secondary consumer in grassland 
ecosystem ?

	 (A)	 Grass-hopper	 (B)	 Frog

	 (C)	 Snake	 (D)	 Vulture
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	 61.	 Match the Sufi Silsilas with their main 
Saints. 

		  a.	 Chishti	 i.	Shekh	   	
Silsila		 Bahawddin 	
		  Jakaria

		  b.	 Suharawardi	 ii.	Mohammad 	
Silsila		 Gous

		  c.	 Nakshabandi	 iii.	Hamiduddin	
 Silsila		 Nagauri

		  d.	 Kadiri Silsila	 iv.	Shekh 		
		 Ahamad 		
		  Farukhi

		  a	 b	 c	 d

	 (A)	 i	 ii	 iii	 iv	
	 (B)	 iii	 iv	 ii	 i

	 (C)	 iii	 i	 iv	 ii

	 (D)	 ii	 iii	 iv	 i

	 62.	 Who was the founder of Tatvabodhini 
Magazine ?

	 (A)	 Maharshi Devendranath Tagore
	 (B)	 Keshav Chandra Sen
	 (C)	 Swami Dayanand Saraswati
	 (D)	 Ishwar Chandra Vidyasagar

	 63.	 The Chief tribe of this State who recites 
‘Pandwani Gatha’ is

	 (A)	 Parja, Pradhan

	 (B)	 Muriya, Mariya

	 (C)	 Pardhi, Bhimma

	 (D)	 Dorla, Oranv

	 61.	 gy\$s {gb{gbm| H$mo CZHo$ à_wI g§Vm| go gw_o{bV 
H$s{O`o&

		  a.	 {MpíV {gb{gbm	 i.	eoI ~hmCÔrZ 	
		 OH$[a`m	

		  b.	 gwhamdXu {gb{gbm	 ii.	_whå_X Jm¡g 	

		  c.	 ZŠe~§Xr {gb{gbm	 iii.	h_rXþÔrZ ZmJm¡ar

		  d.	 H$m{Xar {gb{gbm	 iv.	eoI Ah_X 		
		  \$mê$Ir 

		  a	 b	 c	 d

	 (A)	 i	 ii	 iii	 iv	
	 (B)	 iii	 iv	 ii	 i

	 (C)	 iii	 i	 iv	 ii

	 (D)	 ii	 iii	 iv	 i

	 62.	 VËd~mo{YZr n{ÌH$m H$m Amaå^ H$aZo dmbo H$m¡Z Wo ?

	 (A)	 _h{f© XodoÝÐZmW Q>¡Jmoa
	 (B)	 Ho$ed MÝÐ goZ
	 (C)	 ñdm_r X`mZÝX gañdVr
	 (D)	 B©ída MÝÐ {dÚmgmJa

	 63.	 Bg amÁ` _| "nÊS>dmZr JmWm' JrV JmZo dmbr à_wI 
OZOm{V`m± h¡ 

	 (A)	 naOm, àYmZ

	 (B)	 _w[a`m, _{‹S>`m

	 (C)	 nmaYr, {^å_m

	 (D)	 Xmobm©, Cam§d



	 	 02223/GE – GJ/RCE – M

	 -20-	 Set-A

a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

	 64.	 The tomb of Sant Guru Ghasi Das is 
situated in

	 (A)	 Chhata Pahar	(B)	 Girodpuri
	 (C)	 Bangoli	 (D)	 Telasigram

	 65.	 Match the following Kings of South 
India with their dynasty.

		  a.	 Narsingh Varma	 i.	 Pandya
		  b.	 Parantak (vargun)	 ii.	 Hoysal
		  c.	 Kulottunga	 iii.	 Pallav
		  d.	 Vishnu Vardhan	 iv.	 Chola
		  a	 b	 c	 d
	 (A)	 i	 ii	 iii	 iv	
	 (B)	 iii	 i	 iv	 ii
	 (C)	 ii	 iii	 iv	 i
	 (D)	 iv	 ii	 i	 iii

	 66.	 Match the events related to Shivaji with 
their year.

		  a.	 Jawali Victory	 i.	 1664
		  b.	 Fight with Afzal Khan	 ii.	 1666
		  c.	 First attack on Surat	 iii.	 1656
		  d.	 Meet Aurangzeb	 iv.	 1659
		  a	 b	 c	 d
	 (A)	 iii	 iv	 i	 ii	
	 (B)	 iv	 ii	 i	 iii
	 (C)	 ii	 i	 iii	 iv
	 (D)	 i	 ii	 iii	 iv

	 67.	 The name of the ancient temple of 
‘Tala’ in this State

	 (A)	 Devrani Jethani temple
	 (B)	 Battisa temple
	 (C)	 Madva temple
	 (D)	 Rudreshwar Mahadeo temple

	 64.	 g§V Jwé Kmgr Xmg H$s g_m{Y {H$g ñWmZ na h¡ ?

	 (A)	 N>mVm nhm‹S>	 (B)	 {JamoYnwar

	 (C)	 ~§Jmobr	 (D)	 VobmgrJ«m_

	 65.	 {ZåZ{b{IV X{jU ̂ maV Ho$ amOmAm| H$mo CZHo$ d§e 
go gw_o{bV H$s{O`o&

		  a.	 Zaqgh d_m©	 i.	 nmÊS>ç
		  b.	 namÝVH$ (daJwU)	 ii.	 hmo`gb
		  c.	 Hw$bmoÎm§wJ	 iii.	 nëbd
		  d.	 {dîUw dY©Z	 iv.	 Mmob
		  a	 b	 c	 d
	 (A)	 i	 ii	 iii	 iv	
	 (B)	 iii	 i	 iv	 ii
	 (C)	 ii	 iii	 iv	 i
	 (D)	 iv	 ii	 i	 iii

	 66.	 {edmOr go gå~§{YV KQ>ZmAm| H$mo CZHo$ df© go 
gw_o{bV H$s{O`o&

		  a.	 Omdbr {dO`	 i.	 1664
		  b.	 A\$µOb Im± go g§Kf©	 ii.	 1666
		  c.	 gwaV na n«W_ AmH«$_U	 iii.	 1656
		  d.	 Am¡a§JµOo~ go {_bZm	 iv.	 1659
		  a	 b	 c	 d
	 (A)	 iii	 iv	 i	 ii	
	 (B)	 iv	 ii	 i	 iii
	 (C)	 ii	 i	 iii	 iv
	 (D)	 i	 ii	 iii	 iv

	 67.	 Bg amÁ` _| "Vmbm' Ho$ àmMrZ _§{Xa H$m Zm_ h¡

	 (A)	 XodamZr OoR>mZr _§{Xa
	 (B)	 ~Îmrgm _§{Xa
	 (C)	 _‹S>dm _§{Xa
	 (D)	 éÐoída _hmXod _§{Xa
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	 68.	 Chitrasen a disabled mountaineer of 
this State has not done mountaineering 
the following Country

	 (A)	 Russia	 (B)	 Tanzania

	 (C)	 Italy	 (D)	 Australia

	 69.	 Match the following Kalchuri ruler of 
Ratanpur with the year they started 
their rule.

		  a.	 Jajalldeo I	 i.	 1135

		  b.	 Prithvideo II	 ii.	 1495

		  c.	 Baharendra Say	 iii.	 1581

		  d.	 Laxman Say	 iv.	 1090

		  a	 b	 c	 d
	 (A)	 iv	 i	 ii	 iii	

	 (B)	 i	 iv	 ii	 iii
	 (C)	 iv	 ii	 i	 iii
	 (D)	 i	 iv	 iii	 ii

	 70.	 The gift given to Kamavisdar on the 
occasion of Raksha Bandhan during the 
Maratha rule of this State was called

	 (A)	 Rakhi Kar	
	 (B)	 Tika and Nazarana

	 (C)	 Rayat Bhent	

	 (D)	 Sehsal Bhent

	 71.	 The answer of the riddle ‘Ek rukh mein 
tein thi sag’ is

	 (A)	 Munga	 (B)	 Khera
	 (C)	 Charota	 (D)	 Aloo

	 68.	 Bg amÁ` Ho$ {Xì`m§J nd©Vmamohr {MÌgoZ 
{ZåZ{b{IV Xoe _| nd©VmamohU Zht {H$`m h¡ 

	 (A)	 ê$g	 (B)	 V§Om{Z`m

	 (C)	 BQ>br	 (D)	 AmñQ´>o{b`m

	 69.	 aVZnwa Ho$ {ZåZ{b{IV H$bMw[a emgH$m| H$mo CZHo$ 
emgZ àmaå^ hmoZo dmbo df© go gw_o{bV H$s{O`o&

		  a.	 OmOëbXod àW_	 i.	 1135

		  b.	 n¥ÏdrXod {ÛVr`	 ii.	 1495

		  c.	 ~mhaoÝÐ gm`	 iii.	 1581

		  d.	 bú_U gm`	 iv.	 1090

	 	 a	 b	 c	 d

	 (A)	 iv	 i	 ii	 iii	
	 (B)	 i	 iv	 ii	 iii

	 (C)	 iv	 ii	 i	 iii
	 (D)	 i	 iv	 iii	 ii

	 70.	 Bg amÁ` _| _amR>m emgZH$mb _| ajm ~§YZ Ho$ 
Adga na H$_m{dgXma H$mo {XE OmZo dmbo Cnhma 
H$mo H$hm OmVm Wm

	 (A)	 amIr H$a
	 (B)	 Q>rH$m Am¡a ZµOamZm

	 (C)	 a¡æ`V ^|Q>

	 (D)	 gohgmb ^|Q>

	 71.	 Bg nhobr H$m CÎma ~VbmB`o "EH$ éI _| VrZ R>r 
gmJ' 

	 (A)	 _yZJm	 (B)	 Io‹S>m
	 (C)	 MamoQ>m	 (D)	 Amby
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	 72.	 ‘Daga Kahun Ke Saga Nahi’ this idiom 
means

	 (A)	 The relatives deceive
	 (B)	 Anybody can deceive
	 (C)	 People get deceived in odds
	 (D)	 None of the above

	 73.	 Match the civil revolts against the 
British rule with the year it started.

		  a.	 Sanyasi Revolt	 i.	 1830
		  b.	 Santhal Revolt	 ii.	 1828
		  c.	 Ahom Revolt	 iii.	 1822
		  d.	 Ramosi Revolt	 iv.	 1770
		  a	 b	 c	 d
	 (A)	 iii	 i	 iv	 ii	
	 (B)	 iv	 ii	 i	 iii
	 (C)	 iv	 i	 ii	 iii
	 (D)	 i	 ii	 iii	 iv

	 74.	 Match the buildings of medieval 
regional architecture style with their 
States.

		  a.	 Jhinjhari Mosque	 i.	Bengal

		  b.	 Hindola Mahal	 ii.	 Jaunpur

		  c.	 Tomb of 	 iii.	Gujarat

			   Ahamad Shah	

		  d.	 Lotan Mosque	 iv.	Malva

		  a	 b	 c	 d

	 (A)	 i	 ii	 iii	 iv	

	 (B)	 ii	 i	 iv	 iii

	 (C)	 ii	 iv	 iii	 i

	 (D)	 None of the above

	 72.	 {ZåZ{b{IV _whmdao H$m AW© ~VbmB`o "XJm H$hÿ± 
Ho$ gJm Zht'  

	 (A)	 [aíVoXma hr YmoIm XoVo h¡§ 
	 (B)	 YmoIm H$moB© ^r ì`pŠV Xo gH$Vm h¡ 
	 (C)	 ~wao g_` _| bmoJ YmoIm Im OmVo h¡§
	 (D)	 CnamoŠV _| go H$moB© Zht

	 73.	 A§J«oµOr emgZ Ho$ {déÕ hþ`o Ag¡{ZH$ {dÐmohm| H$mo 
CgHo$ àmaå^ hmoZo Ho$ df© go gw_o{bV H$s{O`o&

		  a.	 gÝ`mgr {dÐmoh	 i.	 1830
		  b.	 g§Wmb {dÐmoh	 ii.	 1828
		  c.	 Ahmo_ {dÐmoh	 iii.	 1822
		  d.	 a_mogr {dÐmoh	 iv.	 1770
		  a	 b	 c	 d
	 (A)	 iii	 i	 iv	 ii	
	 (B)	 iv	 ii	 i	 iii
	 (C)	 iv	 i	 ii	 iii
	 (D)	 i	 ii	 iii	 iv

	 74.	 _Ü`H$mbrZ àm§Vr` ñWmnË` e¡br Ho$ ^dZm| H$mo 
CZHo$ amÁ`m| go gw_o{bV H$s{O`o&

		  a.	 {P§Par _pñOX	 i.	~§Jmb	

		  b.	 {hÝS>mobm _hb	 ii.	Om¡Znwa

		  c.	 Ah_X emh H$m _H$~am 	 iii.	JwOamV

		  d.	 bmoQ>Z _pñOX	 iv.	_mbdm
		  a	 b	 c	 d

	 (A)	 i	 ii	 iii	 iv	

	 (B)	 ii	 i	 iv	 iii

	 (C)	 ii	 iv	 iii	 i

	 (D)	 CnamoŠV _| go H$moB© Zht
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	 75.	 Which tribe of this State got its name 
because of its arrow making ?

	 (A)	 Jhara	 (B)	 Bhunjiya
	 (C)	 Dhanwar	 (D)	 Kandara

	 76.	 ‘Dahaka dance’ is the main dance of 
which tribe of this State ?

	 (A)	 Pardhan	 (B)	 Dorla
	 (C)	 Kole	 (D)	 Oranv

	 77.	 When did Mahatma Gandhi withdraw 
the non-cooperation movement ?

	 (A)	 12 Feb. 1922
	 (B)	 5 Feb. 1922
	 (C)	 8 March 1922
	 (D)	 12 March 1922

	 78.	 The ornament ‘Lurki’ is worn
	 (A)	 Neck	 (B)	 Ear
	 (C)	 Nose	 (D)	 Arm

	 79.	 Who was Sitaram of ‘Sitaram Nayak’ 
the saga of this State ?

	 (A)	 Nomad	 (B)	 Tribal Chief
	 (C)	 Kalchuri ruler	(D)	 Shepherd 

	 80.	 In the tradition of this State, the correct 
sequence of the start of the child birth 
festival is

		  i.	 Oli bharana	
		  ii.	 Sadhouri	
		  iii.	 Chhatti	
		  iv.	 Feed of Kankepani	

	 (A)	 iv	 ii	 i	 iii	
	 (B)	 i	 ii	 iii	 iv
	 (C)	 ii	 i	 iv	 iii
	 (D)	 i	 ii	 iv	 iii

	 75.	 Bg amÁ` Ho$ {H$g OZOm{V H$m Zm_ CgHo$ ~mU 
{Z_m©U H$aZo Ho$ H$maU n‹S>m ?

	 (A)	 Pmam	 (B)	 ^w§{O`m
	 (C)	 YZdma	 (D)	 H§$S>am

	 76.	 "XhH$m Z¥Ë`' Bg amÁ` Ho$ {H$g OZOm{V H$m 
à_wI Z¥Ë` h¡ ?

	 (A)	 naYmZ	 (B)	 Xmoabm
	 (C)	 H$mob	 (D)	 Cam§d

	 77.	 _hmË_m Jm§Yr Zo Agh`moJ Am§XmobZ H$~ dmng 
{b`m ?

	 (A)	 12 \$adar 1922
	 (B)	 5 \$adar 1922
	 (C)	 8 _mM© 1922	
	 (D)	 12 _mM© 1922

	 78.	 "bwaH$s' Zm_H$ µOoda H$hm± nhZm OmVm h¡ ?
	 (A)	 Jbm	 (B)	 H$mZ
	 (C)	 ZmH$	 (D)	 ~mOy

	 79.	 Bg amÁ` H$s JmWm "grVmam_ Zm`H$' H$m grVmam_ 
H$m¡Z Wm ?

	 (A)	 ~§Omam	 (B)	 Am{Xdmgr _w{I`m
	 (C)	 H$bMw[a emgH$	 (D)	 Madmhm

	 80.	 Bg amÁ` H$s naånam _| g§VmZ OÝ_ CËgd Ho$ àmaå^ 
hmoZo H$m ghr H«$_ h¡ 

		  i.	 Amobr ^aZm	
		  ii.	 gYm¡ar	
		  iii.	 N>Q²>Q>r	
		  iv.	 H$m§Ho$nmZr {nbmZm	

	 (A)	 iv	 ii	 i	 iii	
	 (B)	 i	 ii	 iii	 iv
	 (C)	 ii	 i	 iv	 iii
	 (D)	 i	 ii	 iv	 iii
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	 81.	 Consider the following statement 
regarding Kailash Caves.

	 1.	 It has been built by Sant 
Rameshwardas Gahiraguru.

	 2.	 It is temple of Lord Shiva and 
Parvati.

	 3.	 Ashram has been built here by 
breaking hard hill.

	 (A)	 Only 1 is correct
	 (B)	 1 and 2 are correct
	 (C)	 1, 2, 3 are correct
	 (D)	 Only 3 is incorrect

	 82.	 Consider the following statements 
regarding Chhuri.

	 a.	 Rocks of Gondwana System is 
found.

	 b.	 Coal deposit is between sand 
stone and shell bed.

	 (A)	 a and b both are related
	 (B)	 a and b are not related
	 (C)	 a is true, b is false
	 (D)	 a is false, b is true

	 83.	 Match the following with the disease 
associated to the environmental 
pollution.

	 1.	 Water pollution	 a.	Bronchitis
	 2.	 Air pollution	 b.	Gastroentitis
	 3.	 Soil pollution	 c.	Deafness
	 4.	 Noise pollution	 d.	Food 	poisoning
		  1	 2	 3	 4
	 (A)	 a	 b	 c	 d	
	 (B)	 a	 c	 d	 b
	 (C)	 b	 a	 d	 c	
	 (D)	 a	 c	 b	 d

	 81.	 H¡$bme Jw\$m Ho$ g§X^© _| {ZåZ H$WZ na {dMma 
H$s{O`o &

	 1.	 `h Jw\$m g§V am_oídaXmg J{hamJwê$ Ûmam 
{Z{_©V h¡ &

	 2.	 `hm± {ed Am¡a nmd©Vr H$m _§{Xa h¡ &

	 3.	 `hm± H$R>moa nhmS>r H$mo Vmo‹S>H$a Aml_ ~Zm`m 
J`m h¡ &

	 (A)	 Ho$db 1 ghr h¡
	 (B)	 1 Am¡a 2 ghr h¢
	 (C) 	 1, 2, 3 ghr h¢
	 (D)	 Ho$db 3 JbV h¡

	 82.	 Ny>ar Ho$ g§X^© _| {ZåZ H$WZ na {dMma H$s{O`o &

	 a.	 `hm± Jm§oS>dmZm H«$_ H$s MÅ>mZ| nmB© OmVr h¡§ &

	 b.	 `hm±  aoV nËWa Am¡a e¡b g§ñVamo§ Ho$ ~rM H$mò bo 
H$m {Zjon h¡ &

	 (A)	 a Am¡a b XmoZm| g§~§{YV h¡§ 
	 (B)	 a Am¡a b Ho$ ~rM g§~§Y Zht h¡
	 (C)	 a ghr, b JbV h¡ 
	 (D)	 a JbV, b ghr h¡

	 83.	 n`m©daU àXÿfU go g§~pÝYV {ZåZ{b{IV amoJm| H$m 
{_bmZ H$s{O`o &

	 1.	 Ob àXÿfU	 a.	 ~«m|H$mB{Q>g
	 2.	 dm`w àXÿfU	 b.	 J¡ñQ´>moBÝQ>mB{Q>g
	 3.	 _¥Xm àXÿfU	 c.	 S>r\$Zog
	 4.	 Üd{Z àXÿfU	 d.	 ImÚ {dfmŠVVm
		  1	 2	 3	 4
	 (A)	 a	 b	 c	 d	
	 (B)	 a	 c	 d	 b
	 (C)	 b	 a	 d	 c	
	 (D)	 a	 c	 b	 d
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	 84.	 Green mufler is used against which 
type of pollution ?

	 (A)	 Soil pollution	
	 (B)	 Air pollution

	 (C)	 Noise pollution
	 (D)	 Water pollution

	 85.	 Match the following :
	 	L ist – I	L ist – II 
		  (State)	 (Population	

	 characteristics,
			   according to 	

	 Census 2011)

	 1.	 Bihar	 I.	 Highest 		
Population 	
Density

	 2.	 Meghalaya	 II.	 Highest   	  
Decadal 	
Growth

	 3.	 Kerala	 III.	 Highest Sex 	
Ratio

	 4.	 Mizoram	 IV.	 Highest 		
Scheduled 	  
Tribe 	
Population

			   V.	 Highest 		
Scheduled 	  
Caste 	
Population

		  1	 2	 3	 4
	 (A)	 I	 II	 III	 IV
	 (B)	 II	 III	 IV	 V
	 (C)	 I	 II	 IV	 V
	 (D)	 II	 I	 IV	 V

	 84.	 J«rZ _\$ba H$m Cn`moJ {H$g àH$ma Ho$ àXÿfU H$mo 
{Z`§{ÌV H$aZo Ho$ {bE {H$`m OmVm h¡ ?

	 (A)	 _¥Xm àXÿfU
	 (B)	 dm`w àXÿfU
	 (C)	 Üd{Z àXÿfU
	 (D)	 Ob àXÿfU

	 85.	 ghr `w½_ ~ZmB`o :
		  gyMr - I	 gyMr - II
		  (amÁ`)	 (OZg§»`m H$s 		

	 {deofVm`|, 		
	 OZJUZm 2011 	  
	 Ho$ AZwgma)

	 1.	 {~hma	 I.	 gdm©{YH$ OZg§»`m 
H$m KZËd

	 2.	 _oKmb`	 II.	 gdm©{YH$ XeH$s` 
d¥{Õ

	 3.	 Ho$ab	 III.	 gdm©{YH$	  
qbJmZwnmV

	 4.	 {_Omoa_	 IV.	 gdm©{YH$ AZwgy{MV 

OZOm{V OZg§»`m

			   V.	 gdm©{YH$ AZwgy{MV 

Om{V OZg§»`m

		  1	 2	 3	 4
	 (A)	 I	 II	 III	 IV
	 (B)	 II	 III	 IV	 V
	 (C)	 I	 II	 IV	 V
	 (D)	 II	 I	 IV	 V



	 	 02223/GE – GJ/RCE – M

	 -26-	 Set-A

a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

	 86.	 Which of the following crop is different ?

	 (A)	 Sorghum	 (B)	 Bajra
	 (C)	 Barley	 (D)	 Maize

	 87.	 To provide water in Naya Raipur in 
which place Anicut was been made 
in Mahanadi ?

	 (A)	 Rajim	 (B)	 Tila
	 (C)	 Amsena	 (D)	 Arang

	 88.	 Which are mismatched ?
	 a.	Human Stomach	–	 Hydrochloric 
				   acid
	 b.	Bee sting 	 –	 Ethanoic acid
	 c.	Glass	 –	 Supercooled 
				   liquid
	 d.	Thrombin	 –	 Blood clotting
	 e.	Aluminium	 –	 Best 
				   conductor of 
				   electricity
	 (A)	 a and c	 (B)	 b and e
	 (C)	 a and b	 (D)	 c and d

	 89.	 Which of the following valley of 
Himalaya is called doon and dwar ?

	 (A)	 Greater Himalaya
	 (B)	 Lesser Himalaya
	 (C)	 Shivalik Himalaya
	 (D)	 Eastern Himalaya

	 90.	 How many morphological regions is 
India divided ?

	 (A)	 Two Part	 (B)	 Four Part

	 (C)	 Three Part	 (D)	 Five Part

	 86.	 {ZåZ _| go H$m¡Z-gr \$gb {^ÝZ h¡ ?
	 (A)	 Ádma	 (B)	 ~mOam
	 (C)	 Om¡	 (D)	 _ŠH$m

	 87.	 Z`m am`nwa _| Obmny{V© hoVw _hmZXr _| {H$g ñWmZ 
na EZrH$Q> ~Zm`m h¡ ?

	 (A)	 am{O_	 (B)	 Q>rbm
	 (C)	 A_goZm	 (D)	 Ama§J

	 88.	 H$m¡Z-go gw_o{bV Zht h¡ ?
	 a.	_mZd Am_me`	 –	hmBS´>moŠbmo[aH$ Aåb

	 b.	_Yw_ŠIr H$m S>§H$	 –	EWoZmoBH$ Aåb
	 c.	H$m±M	 –	A{VerV{bV Ðd

	 d.	W«mo_{~Z	 –	 aŠV H$m W¸$m ~ZZm
	 e.	Eë`y{_{Z`_ 	 –	 {dÚwV H$m CÎm_  

		 MmbH$

	 (A)	 a Ed§ c	 (B)	 b Ed§ e
	 (C)	 a Ed§ b	 (D)	 c Ed§ d

	 89.	 {h_mb` H$s {ZåZ _| go {H$g KmQ>r H$mo XÿZ Am¡a Ûma 
H$hVo h¡§ ?

	 (A)	 ~¥hX {h_mb`
	 (B)	 bKw {h_mb`
	 (C)	 {edm{bH$ {h_mb`
	 (D)	 nydu {h_mb`

	 90.	 ^maV H$mo {H$VZo ŷAmH¥${VH$ àXoem| _| ~m±Q>m J`m h¡ ?

	 (A)	 Xmo ^mJ	 (B)	 Mma ^mJ
	 (C)	 VrZ ^mJ	 (D)	 nm±M ^mJ
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	 91.	 Which of the following air pollutant 
inhibits the cilia action ?

	 (A)	 Sulphur dioxide	
	 (B)	 Nitrogen oxides
	 (C)	 Hydrogen cyanide
	 (D)	 Carbon monoxide

	 92.	 Which physiological effects of fluoride 
are correct ?

	 i.	 Glycogen level increases.
	 ii.	 Glycogen turnover get 

depressed.
	 iii.	 Phosphorylase activity 

increases.
	 iv.	 Activation of acetate inhibiting 

the liver lipase.
	 v.	 Interference in iron uptake.
	 vi.	 Effects parathyroid hormone.
	 (A)	 iii  iv  v  vi 	 (B)	 i    ii   v   vi
	 (C)	 ii   iii  iv  vi	 (D)	 ii   iv  v  vi

	 93.	 Consider the following statement.
	 1.	 Jamnalal Bajaj Sagar Project is 

on the Mahi river.
	 2.	 Indira Gandhi Canal originates 

from Hari Ke Barrage.
	 3.	 Tehri dam is built on Ganga river.
		  Which of the above statement is/are 

correct ?
	 (A)	 1 and 2 only
	 (B)	 1 and 3 only

	 (C)	 2 and 3 only

	 (D)	 2 only

	 91.	 {g{b`m H$s {H«$`merbVm H$mo {ZåZ _| go H$m¡Z-gm 
dm`w àXÿfH$ AdéÕ H$aVm h¡ ?

	 (A)	 gë\$a S>mB© AmŠgmBS>
	 (B)	 ZmBQ´>moOZ AmŠgmBS>
	 (C)	 hmBS´>moOZ gmBZmBS>
	 (D)	 H$m~©Z _moZmo AmŠgmBS>

	 92.	 âbyamBS> H$m H$m¡Z-gm H$m{`H$ à^md ghr h¡  ?

	 i.	 ½bm`H$moOZ ñVa ~‹T>>Vm h¡ &
	 ii.	 ½bm`H$moOZ Q>Z©Amoda H$_ hmo OmVm h¡ &

	 iii.	 \$mñ\$moam`bog g{H«$`Vm ~‹T>>> OmVr h¡ &

	 iv.	 EgrQ>oQ> H$m g{H«$`U ̀ H¥$V bmBnoO H$m AdamoY 
H$aVm h¡ &

	 v.	 Am`aZ A{YJ«hU _| ~mYm nhþ±MmVm h¡ &
	 vi.	 noamWm`amBS> hm_m}Z H$mo à^m{dV H$aVm h¡ & 
	 (A)	 iii  iv  v  vi 	 (B)	 i    ii   v   vi
	 (C)	 ii   iii  iv  vi	 (D)	 ii   iv  v  vi

	 93.	 {ZåZ{b{IV H$WZm| na {dMma H$s{O`o &
	 1.	 O_Zmbmb ~OmO gmJa n[a`moOZm _mhr ZXr 

na h¡ &
	 2.	 har Ho$ ~¡amO go B§{Xam Jm§Yr Zha {ZH$bVr h¡ &

	 3.	 {Q>har ~m§Y J§Jm ZXr na ~Zm h¡ & 
		  D$na {X`o J`o H$WZm| _| H$m¡Z-gm/go ghr h¡ ?

	 (A)	 Ho$db 1 Am¡a 2
	 (B)	 Ho$db 1 Am¡a 3

	 (C)	 Ho$db 2 Am¡a 3

	 (D)	 Ho$db 2
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	 94.	 Which city of the country belongs to 
‘No risk’ Zone – I of Earthquake ?

	 (A)	 Bengaluru	 (B)	 Bhopal

	 (C)	 Mumbai	 (D)	 Haridwar

	 95.	 Chhattisgarh best Sagon (Teak) is 
found in

	 (A)	 Keshkal Valley
	 (B)	 Khursel Valley
	 (C)	 Pinjarin Valley
	 (D)	 Darbha Valley

	 96.	 Sugarcane industry has been 
established in Chhattisgarh 

	 (A)	 Ramhepur, Karkabhat, 
Arasmeta

	 (B)	 Ramhepur, Harinchapra, 
Arasmeta

	 (C)	 Ramhepur, Barmkela, Lamni
	 (D)	 Ramhepur, Karkabhat, Kerta

	 97.	 Match the following.
	 1.	 National Film 	 a.	Bareilly
		  Archives	
	 2.	 I.V.R.I.	 b.	Bengaluru
	 3.	 Indian Institute	 c.	Mumbai
		  of Science
	 4.	 T.I.F.R.	 d.	Pune

		  1	 2	 3	 4
	 (A)	 d	 a	 b	 c	
	 (B)	 d	 a	 c	 b
	 (C)	 d	 b	 a	 c	
	 (D)	 d	 c	 b	 a

	 94.	 Xoe H$m H$m¡Z-gm eha ^yH§$n  Ho$ "Zmo [añH$'  
àjoÌ - I _| AmVm h¡ ?

	 (A)	 ~|Jbwé	 (B)	 ^monmb
	 (C)	 _w§~B©	 (D)	 h[aÛma

	 95.	 N>ÎmrgJ‹T> H$m gdm}Îm_ gmJm¡Z nm`m OmVm h¡

	 (A)	 Ho$eH$mb KmQ>r
	 (B)	 Iwagob KmQ>r
	 (C)	 qnOm[aZ KmQ>r
	 (D)	 Xa^m KmQ>r

	 96.	 N>ÎmrgJ‹T> _| eŠH$a H$maImZm ñWm{nV {H$`m  
J`m h¡

	 (A)	 amåhonwa, H$aH$m^mQ>, Aag_oQ>m

	 (B)	 amåhonwa, h[aZN>nam>, Aag_oQ>m

	 (C)	 amåhonwa, ~a_Ho$bm>, b_Zr
	 (D)	 amåhonwa, H$aH$m^mQ>, Ho$aVm

	 97.	 C{MV g§~§Y Omo{S>`o & 
	 1.	 amîQ´>r` {\$ë_  	 a.	~aobr
		  g§J«hmb`	
	 2.	 AmB©.ìhr.Ama.AmB©.	 b.	~|Jbwé
	 3.	 ^maVr` {dkmZ g§ñWmZ	 c.	_w§~B©

	 4.	 Q>r.AmB©.E\$.Ama.	 d.	nyUo

		  1	 2	 3	 4
	 (A)	 d	 a	 b	 c	
	 (B)	 d	 a	 c	 b
	 (C)	 d	 b	 a	 c	
	 (D)	 d	 c	 b	 a
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	 98.	 Match the following.

	 1.	 Metal Park	 a.	 Bagod
				    (Dhamtari)

	 2.	 Engineering 	 b.	 New Raipur

		  Park

	 3.	 Food Park	 c.	 Raipur

	 4.	 Electronic 	 d.	 Hathkhoj
		  Manufacturing 		  (Bhilai)
		  Cluster

		  1	 2	 3	 4
	 (A)	 a	 b	 c	 d	

	 (B)	 c	 d	 a	 b

	 (C)	 c	 a	 d	 b	

	 (D)	 c	 b	 a	 d

	 99.	 Which river forms by Chitrakoot 
water falls ?

	 (A)	 Mahanadi

	 (B)	 Shivnath River

	 (C)	 Kotri River

	 (D)	 Indrawati River

	100.	 Which district is largest production of 
Iron ore in Chhattisgarh ?

	 (A)	 Baster

	 (B)	 Balod

	 (C)	 Durg

	 (D)	 Dantewada

	 98.	 ghr Omo‹S>r {_bmB`o &

	 1.	 _oQ>b nmH©$	 a.	~JmoX (Y_Var)

	 2.	 B§Or{Z`[a¨J nmH©$	 b.	Z`m am`nwa

	 3.	 \w$S> nmH©$	 c.	am`nwa

	 4.	 BboŠQ´>m°{ZH$	 d.	hWImoO ({^bmB©)
		  _¡Ý`y\¡$ŠM[a¨J ŠbñQ>a

		  1	 2	 3	 4
	 (A)	 a	 b	 c	 d	

	 (B)	 c	 d	 a	 b

	 (C)	 c	 a	 d	 b	

	 (D)	 c	 b	 a	 d

	 99.	 {MÌH$moQ> Ob ànmV {H$g ZXr na pñWV h¡ ?

	 (A)	 _hmZXr

	 (B)	 {edZmW ZXr

	 (C)	 H$moQ>ar ZXr

	 (D)	 B§ÐmdVr ZXr

	100.	 N>ÎmrgJ‹T> _| g~go A{YH$ bm¡h A`ñH$ H$m CËnmXZ 
{H$g {Obo _| hmoVm h¡ ?

	 (A)	 ~ñVa

	 (B)	 ~mbmoX

	 (C)	 XþJ©

	 (D)	 X§Vodm‹S>m
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	101.	 Which item has highest contribution 
in export of India in the year 2019-20 
(April to November) ?

	 (A)	 Iron and steel

	 (B)	 Petroleum products
	 (C)	 Pearl and Precious stones

	 (D)	 Readymade garments

	102.	 Which year has negative growth rate 
in SGDP of this State during 2016-17 
to 2020-21 period ?

	 (A)	 2016-17	 (B)	 2017-18
	 (C)	 2018-19	 (D)	 2020-21

	103.	 What is correct about the procedure of 
Constitutional Amendment ?

	 i.	 The bill should be passed by the 
each houses of Parliament by a 
majority of total membership of 
the house and a majority of not 
less than 2/3 of the members of 
that house present and voting.

	 ii.	 The bill should be passed by the 
each houses of Parliament by a 
majority of all the then members 
of the house and a majority of not 
less than 2/3 of the members of 
that house present and voting.

	 (A)	 i is correct

	 (B)	 ii is correct

	 (C)	 i and ii both are correct

	 (D)	 i and ii both are wrong

	101.	 df© 2019-20 (Aà¡b go Zdå~a VH$) ^maV Ho$ 
{Z`m©V _| {H$g _X/dñVw H$m g~go A{YH$ ̀ moJXmZ 
ahm h¡ ?

	 (A)	 bmohm Ed§ BñnmV

	 (B)	 noQ´>mo{b`_ CËnmX
	 (C)	 _moVr Ed§ H$s_Vr nËWa

	 (D)	 {gbo {gbm`o dñÌ

	102.	 Bg amÁ` Ho$ gH$b Kaoby CËnmX _| 2016-17 go 
2020-21 H$s Ad{Y _| {H$g df© F$UmË_H$ d¥{Õ 
Xa ahr h¡ ?

	 (A)	 2016-17	 (B)	 2017-18
	 (C)	 2018-19	 (D)	 2020-21

	103.	 g§{dYmZ g§emoYZ à{H«$`m Ho$ {df` _| ghr Š`m h¡  ?

	 i.	 {dYò H$ g§gX Ho$ àË òH$ gXZ _| Cg gXZ H$s 

Hw$b gXñ` g§»`m Ho$ ~hþ_V Ûmam VWm Cg 
gXZ Ho$ CnpñWV VWm _V XoZo dmbo gXñ`m| 
Ho$ H$_-go-H$_ Xmo {VhmB© ~hþ_V Ûmam nm[aV 
hmoZm Mm{hE &

	 ii.	 {dYo`H$ g§gX Ho$ àË`oH$ gXZ _| Cg gXZ 

H$s VËg_` g§»`m Ho$ ~hþ_V Ûmam VWm Cg 
gXZ Ho$ CnpñWV VWm _V XoZo dmbo gXñ`m| 
Ho$ H$_-go-H$_ Xmo {VhmB© ~hþ_V Ûmam nm[aV 
hmoZm Mm{hE &

	 (A)	 i ghr h¡

	 (B)	 ii ghr h¡

	 (C)	 i Am¡a ii XmoZm| ghr h¢

	 (D)	 i Am¡a ii XmoZm| JbV h¢
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	104.	 What is correct ?

	 i.	 The property and income of a State 
is exempted from union taxation.

	 ii.	 The property and income of some 
States is exempted from union 
taxation.

	 (A)	 i is correct

	 (B)	 ii is correct

	 (C)	 i and ii both are correct

	 (D)	 i and ii both are wrong

	105.	 What is not correct about the 
removal of Speaker of Lok Sabha ?

	 i.	 Resolution should be passed by 
the majority of the total strength 
of the house.

	 ii.	 Resolution should be passed by 
the majority of the then members 
of the house.

	 iii.	 Resolution should be passed by 
the majority of members of the 
house present and voting.

	 iv.	 Resolution should be passed by the 
absolute majority of the house.

	 (A)	 i		 ii	 iii

	 (B)	 ii	 iii	 iv

	 (C)	 iii	 iv	 i

	 (D)	 iv	 i	 ii

	104.	 ghr Š`m h¡ ?
	 i.	 {H$gr amÁ` H$s gån{Îm Am¡a Am` H$mo g§K Ho$ 

H$am| go Ny>Q> hmoVr h¡ &

	 ii.	 Hw$N> amÁ`m| H$s gån{Îm Am¡a Am` H$mo g§K Ho$ 

H$am| go Ny>Q> hmoVr h¡ &

	 (A)	 i ghr h¡

	 (B)	 ii ghr h¡

	 (C)	 i Am¡a ii XmoZm| ghr h¢

	 (D)	 i Am¡a ii XmoZm| JbV h¢

	105.	 bmoH$g^m Ho$ AÜ`j H$s nXÀ`w{V Ho$ {df` _| Š`m 
ghr Zht h¡ ?

	 i.	 gXZ H$s Hw$b gXñ` g§»`m Ho$ ~hþ_V go 
g§H$ën nm[aV hmoZm Mm{hE &

	 ii.	 gXZ H$s VËH$mbrZ gXñ` g§»`m Ho$ ~hþ_V 
go g§H$ën nm[aV hmoZm Mm{hE &

	 iii.	 gXZ _| CnpñWV VWm _VXmZ H$aZo dmbo 
gXñ`m| Ho$ ~hþ_V go g§H$ën nm[aV hmoZm 
Mm{hE &

	 iv.	 gXZ Ho$ {Zanoj ~hþ_V go g§H$ën nm[aV hmoZm 
Mm{hE &

	 (A)	 i		 ii	 iii

	 (B)	 ii	 iii	 iv

	 (C)	 iii	 iv	 i

	 (D)	 iv	 i	 ii
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	106.	 Consider the following statements :

	 i.	 President can say to the Council 

of Ministers for reconsideration on 

any advice.

	 ii.	 Governor can say to the Council 

of Ministers for reconsideration on 

any advice.

		  Choose the correct answer :

	 (A)	 i is correct

	 (B)	 ii is correct

	 (C)	 i and ii both are correct

	 (D)	 i and ii both are wrong

	107.	 Whose share is increasing in total GVA 

of India at current prices during 2014-15 

to 2017-18 period ?

	 (A)	 Agricultural crops

	 (B)	 Live stock

	 (C)	 Forestry and logging

	 (D)	 Fishing

	108.	 What percentage of the total 
geographical area of India is covered 
by forest and tree as per India State 
of Forest Report 2019 ?

	 (A)	 21.56	 (B)	 23.56

	 (C)	 24.56	 (D)	 25.56

	106.	 {ZåZ H$WZm| na {dMma H$s{OE :

	 i.	 amîQ´>n{V, _pÝÌn[afX go {H$gr nam_e© na 

nwZ{d©Mma Ho$ {bE H$h gH$Vm h¡ &

	 ii.	 amÁ`nmb, _pÝÌn[afX go {H$gr nam_e© na 

nwZ{d©Mma Ho$ {bE H$h gH$Vm h¡ &

		  ghr CÎma H$m M`Z H$s{OE :

	 (A)	 i ghr h¡

	 (B)	 ii ghr h¡

	 (C)	 i Am¡a ii XmoZm| ghr h¡§

	 (D)	 i Am¡a ii XmoZm| JbV h¡§

	107.	 df© 2014-15 go 2017-18 H$s Ad{Y _| àM{bV 

H$s_Vm| na ^maV Ho$ Hw$b gH$b _yë` dY©Z _| {H$g 

joÌ H$m {hñgm ~‹T>Vo Om ahm h¡ ?

	 (A)	 H¥${f \$gb|

	 (B)	 newYZ

	 (C)	 dm{ZH$s Am¡a bm°qJJ

	 (D)	 _Ëñ` nmbZ

	108.	 ^maV dZ à{VdoXZ 2019 Ho$ AZwgma ̂ maV Ho$ Hw$b 

^m¡Jmo{bH$ joÌ Ho$ {H$VZo à{VeV ̂ mJ dZ Ed§ d¥jm| 

go AmÀN>m{XV h¢ ?

	 (A)	 21.56	 (B)	 23.56

	 (C)	 24.56	 (D)	 25.56
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	109.	 Who can be recalled from his office ?
	 i.	 President of Nagar Panchayat
	 ii.	 Vice President of Nagar 

Panchayat
	 iii.	 President of Municipal Council
	 iv.	 Vice President of Municipal Council
	 (A)	 i, ii	 (B)	 i, iii

	 (C)	 ii, iv	 (D)	 iii, iv

	110.	 On which matter both Houses of 
Parliament has equal rights ?

	 i.	 To dismiss the judges of Supreme 
Court

	 ii.	 To dismiss the judges of High 
Court

	 iii.	 To dismiss the President
	 iv.	 To dismiss the Vice President
	 (A)	 i	
	 (B)	 i, ii
	 (C)	 i, ii, iii	
	 (D)	 i, ii, iii, iv

	111.	 What is the rank of Chhattisgarh in State 
electric houses average production 
in all India as per Central Electricity 
Authority New Delhi Report in Financial 
year 2020-21 up to October 2020 ?

	 (A)	 First

	 (B)	 Second

	 (C)	 Third

	 (D)	 Fourth

	109.	 AnZo nX go {H$go àË`md{V©V {H$`m Om gH$Vm h¡ ?
	 i.	 ZJa n§Mm`V H$m AÜ`j
	 ii.	 ZJa n§Mm`V H$m CnmÜ`j

	 iii.	 ZJanm{bH$m n[afX H$m AÜ`j
	 iv.	 ZJanm{bH$m n[afX H$m CnmÜ`j

	 (A)	 i, ii	 (B)	 i, iii
	 (C)	 ii, iv	 (D)	 iii, iv

	110.	 {H$g {df` _| g§gX Ho$ XmoZm| gXZm| H$mo g_mZ 
A{YH$ma h¡ ?

	 i.	 gdm}ÀM Ý`m`mb` Ho$ Ý`m`mYrem| H$mo nXÀ ẁV 
H$aZm

	 ii.	 CÀM Ý`m`mb` Ho$ Ý`m`mYrem| H$mo nXÀ`wV 
H$aZm

	 iii.	 amîQ´>n{V H$mo nXÀ`wV H$aZm
	 iv.	 CnamîQ´>n{V H$mo nXÀ`wV H$aZm
	 (A)	 i	
	 (B)	 i, ii
	 (C)	 i, ii, iii
	 (D)	 i, ii, iii, iv

	111.	 Ho$ÝÐr` {dÚwV àm{YH$aU ZB© {Xëbr Ho$ [anmoQ>© Ho$ 
AZwgma {dÎmr` df© 2020-21 _| AŠVy>~a 2020 
H$s pñW{V _| N>ÎmrgJ‹T> H$m amÁ` {dÚwV J¥hm| H$m 
Am¡gV CËnmXZ _| ^maV  _| Š`m H«$_ ahm h¡ ?

	 (A)	 àW_

	 (B)	 {ÛVr`
	 (C)	 V¥Vr`

	 (D)	 MVwW©
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	112.	 Who will not be member of committee 

constituted for fixing minimum support 
prices of the agricultural crops ?

	 (A)	 Agricultural Minister

	 (B)	 Representatives of Farmers

	 (C)	 Economists/Experts

	 (D)	 Government Representatives

	113.	 Whose salary is charged on 

consolidated fund ?

	 i.	 President

	 ii.	 Vice President

	 iii.	 Speaker of Lok Sabha

	 iv.	 Chairman of Rajya Sabha

	 (A)	 i, ii, iii	 (B)	 ii, iii, iv

	 (C)	 iii, iv, i	 (D)	 iv, i, ii

	114.	 Who requires to call a meeting of Gram 
Sabha ?

	 i.	 Janpad Panchayat

	 ii.	 Zila Parishad

	 iii.	 Collector

	 iv.	 Gram Panchayat

	 (A)	 i	 (B)	 i, ii

	 (C)	 i, ii, iii	 (D)	 i, ii, iii, iv

	112.	 H¥${f \$gbm| Ho$ Ý`yZV_ g_W©Z _yë` {ZYm©[aV H$aZo 

Ho$ {bE J{R>V H$_oQ>r Ho$ H$m¡Z gXñ` Zht hmoJm ?

	 (A)	 H¥${f _§Ìr

	 (B)	 {H$gmZm| Ho$ à{V{Z{Y

	 (C)	 AW©emñÌr/{deofk

	 (D)	 gaH$ma Ho$ à{V{Z{Y

	113.	 {H$gH$m doVZ g§{MV {Z{Y na ^m[aV hmoVm h¡ ?

	 i.	 amîQ´>n{V

	 ii.	 CnamîQ´>n{V

	 iii.	 bmoH$g^m H$m AÜ`j

	 iv.	 amÁ`g^m H$m g^mn{V

	 (A)	 i, ii, iii	 (B)	 ii, iii, iv

	 (C)	 iii, iv, i	 (D)	 iv, i, ii

	114.	 J«m_ g^m H$s ~¡R>H$ ~wbmZo H$s Anojm H$m¡Z H$aVm h¡ ?

	 i.	 OZnX n§Mm`V

	 ii.	 {Obm n[afX

	 iii.	 H$boŠQ>a

	 iv.	 J«m_ n§Mm`V

	 (A)	 i	 (B)	 i, ii

	 (C)	 i, ii, iii	 (D)	 i, ii, iii, iv
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	115.	 For which crop of this State has been 

given “Krishi Karman Award” in the 

year 2020 ?

	 (A)	 Paddy

	 (B)	 Maize

	 (C)	 Food grains

	 (D)	 Horticulture

	116.	 What is the trend of growth of rate of 

manufacturing sector in Gross State 

domestic product of this State during 

2017-18 to 2020-21 period ?

	 (A)	 Increasing

	 (B)	 Decreasing

	 (C)	 Constant

	 (D)	 None of these

	117.	 Who has introduced ‘‘Prime Minister 

Gram Sadak Yojana” ?

	 (A)	 Shri Narendra Modi

	 (B)	 Smt. Indira Gandhi

	 (C)	 Shri Atal Bihari Vajpayee

	 (D)	 Shri Rajeev Gandhi

	115.	 df© 2020 _| Bg amÁ` H$mo {H$g \$gb Ho$ {bE 
""H¥${f H$_©U nwañH$ma'' {X`m J`m h¡ ?

	 (A)	 YmZ

	 (B)	 _ŠH$m

	 (C)	 ImÚmÞ

	 (D)	 CÚm{ZH$s

	116.	 df© 2017-18 go 2020-21 H$s Ad{Y _| Bg 
amÁ` Ho$ gH$b Kaoby CËnmX _| {d{Z_m©U joÌ H$s 
d¥{Õ Xa H$s àd¥{Îm Š`m h¡ ?

	 (A)	 ~‹‹T>>Vm hþAm

	 (B)	 KQ>Vm hþAm

	 (C)	 pñWa

	 (D)	 BZ_| go H$moB© Zht

	117.	 ""àYmZ_§Ìr J«m_ g‹S>H$ `moOZm'' H$mo {H$gZo àma§^ 
{H$`m ? 

	 (A)	 lr. ZaoÝÐ _moXr

	 (B)	 lr_Vr B§{Xam Jm§Yr

	 (C)	 lr AQ>b {~hmar dmOno`r

	 (D)	 lr amOrd Jm§Yr
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	118.	 What happens when President 
proclaims Constitutional crisis in a 
State ?

	 i.	 Cabinet will be dissolved
	 ii.	 Chief Minister will resign
	 iii.	 State Legislative Assembly will be 

dissolved
	 iv.	 State Legislative Assembly will be 

suspended
	 (A)	 i, ii	 (B)	 ii, iii
	 (C)	 iii, iv	 (D)	 iv, i

	119.	 Which inflation index is released by 
National Statistical Office (NSO) in 
India ?

	 (A)	 Consumer Price Index-Combined 
(CPI-C')

	 (B)	 Consumer Price Index-Industrial 
Workers (CPI-IW)

	 (C)	 Consumer Price Index-Agricultural 
Labourers (CPI-AL)

	 (D)	 Consumer Price Index-Rural 
Labourers (CPI-RL)

	120.	 What is the minimum support price 
of ordinary paddy in Chhattisgarh for 
the year 2021 ?

	 (A)	 Rs. 1868/- per Quintal
	 (B)	 Rs. 1940/- per Quintal
	 (C)	 Rs. 1960/- per Quintal

	 (D)	 Rs. 2840/- per Quintal

	118.	 O~ amîQ´>n{V {H$gr amÁ` _| gm§{dYm{ZH$ g§H$Q> H$s 
CX²KmofUm H$aVm h¡, Vmo Š`m hmoVm h¡ ?

	 i.	 _pÝÌ_ÊS>b ^§J hmo OmEJm
	 ii.	 _w»`_ÝÌr Ë`mJnÌ Xo XoJm
	 iii.	 amÁ` {dYmZ g^m {dK{Q>V hmo OmEJr

	 iv.	 amÁ` {dYmZ g^m {Zbpå~V hmo OmEJr

	 (A)	 i, ii	 (B)	 ii, iii
	 (C)	 iii, iv	 (D)	 iv, i

	119.	 ^maV _| H$m¡Z-gr _wÐmñ\$s{V gyMH$m§H$ amîQ´>r` 

gm§p»`H$s` H$m`m©b` Ûmam Omar H$s OmVr h¡ ?

	 (A)	 Cn^moŠVm H$s_V gyMH$m§H$-gpå_{bV 

(CPI-C')

	 (B)	 Cn^moŠVm H$s_V gyMH$m§H$-Am¡Úmo{JH$ l{_H$ 

(CPI-IW)
	 (C)	 Cn^moŠVm H$s_V gyMH$m§H$-H¥${f l{_H$ 

(CPI-AL)

	 (D)	 Cn^moŠVm H$s_V gyMH$m§H$-J«m_rU l{_H$ 

(CPI-RL)

	120.	 df© 2021 Ho$ {bE N>ÎmrgJ‹T> _| gmYmaU YmZ H$m 

Ý`yZV_ g_W©Z _yë` Š`m h¡ ?

	 (A)	 é. 1868/- à{V pŠd¨Q>b

	 (B)	 é. 1940/- à{V pŠd¨Q>b
	 (C)	 é. 1960/- à{V pŠd¨Q>b

	 (D)	 é. 2840/- à{V pŠd¨Q>b
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(ii)

	121.	 Which Caribbean Island became 
Republic country in November, 2021 ?

	 (A)	 Cuba
	 (B)	 Antigua
	 (C)	 Barbados
	 (D)	 Bahamas

	122.	 In which of the following country, G-20 
summit will be organize in 2022 ?

	 (A)	 India	 (B)	 Brazil
	 (C)	 Indonesia	 (D)	 France

	123.	 Who amongst the following player has 
received silver medal in BWF World 
Championships of 2021 ?

	 (A)	 Srikanth Kidambi
	 (B)	 Lakshya Sen
	 (C)	 Ashwini Ponappa
	 (D)	 B. Sai Praneeth

	124.	 Who amongst the following is a 
mountaineer of this State ?

	 (A)	 Nishu Singh
	 (B)	 Rahul Gupta
	 (C)	 Nisha Yadav
	 (D)	 All of the above

	125.	 Prime Minister of India is honoured 
by the highest civilian award Ngadag 
Pelji Khorolo of which of the following 
country ?

	 (A)	 Bhutan	 (B)	 Maldives
	 (C)	 Myanmar	 (D)	 Bangladesh

(ii)

	121.	 Zd§~a, 2021 _| H$m¡Z-gm H¡$[a{~`mB© Ûrn JUV§Ì 
Xoe ~Zm ?

	 (A)	 Š`y~m
	 (B)	 EÊQ>rJwAm
	 (C)	 ~ma~mS>mog
	 (D)	 ~hm_mg

	122.	 2022 _| Or-20 gå_obZ H$m Am`moOZ {ZåZ _| 
go {H$g Xoe _| {H$`m OmdoJm ?

	 (A)	 ^maV	 (B)	 ~«mµOrb
	 (C)	 B§S>moZo{e`m	 (D)	 \«$m§g

	123.	 2021 Ho$ ~r.S>ãë`y.E\$. {díd M¡pån`Z{en _| 
aOV nXH$ àmßV H$aZo dmbo {Ibm‹S>r {ZåZ _| go 
H$m¡Z h¢ ?

	 (A)	 lrH$m§V {H$Xm§~r
	 (B)	 bú` goZ
	 (C)	 ApídZr nmoZßnm
	 (D)	 ~r. gmB© àZrW

	124.	 {ZåZ _| go H$m¡Z Bg amÁ` Ho$ nd©Vmamohr h¢ ?

	 (A)	 {Zew qgh
	 (B)	 amhþb JwßVm
	 (C)	 {Zem `mXd
	 (D)	 CnamoŠV g^r

	125.	 ^maV Ho$ àYmZ_§Ìr H$m gå_mZ gdm}ÀM ZmJ[aH$ 
nwéñH$ma ZJXJ nobOr Imoamobmo go {H$`m J`m, `h 
{ZåZ _| go {H$g Xoe H$m h¡ ?

	 (A)	 ^yQ>mZ	 (B)	 _mbXrd
	 (C)	 å`mZ_ma	 (D)	 ~m§½bmXoe
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	126.	 In which of the following city, India’s first 
open rock Museum was inaugurated ?

	 (A)	 Delhi

	 (B)	 Kolkata
	 (C)	 Hyderabad
	 (D)	 Bhopal

	127.	 Who is the Deputy Speaker of  
5th Legislative Assembly of this State ?

	 (A)	 Manoj Singh Mandavi
	 (B)	 Vikram Mandavi
	 (C)	 Indrashah Mandavi
	 (D)	 Mohan Markam

	128.	 Who amongst the following is an author 
of novel Bhulan-kanda ?

	 (A)	 Manoj Verma
	 (B)	 Sanjeev Bakshi
	 (C)	 Vinod Kumar Shukla
	 (D)	 Abhishek Agrawal

	129.	 Which of the following is not a dance 
form of Bastar ?

	 (A)	 Jhirliti	 (B)	 Kaksar
	 (C)	 Gaur	 (D)	 Rahas

	130.	 Which of the following is a group of 
QUAD countries ?

	 (A)	 America, Japan, Australia, Britain

	 (B)	 India, America, Australia, Germany

	 (C)	 America, India, France, Australia

	 (D)	 Japan, India, America, Australia

	126.	 {ZåZ _| go {H$g eha _| ̂ maV H$m nhbm AmonZ am°H$ 
g§J«hmb` CX²Km{Q>V hþAm ?

	 (A)	 {Xëbr

	 (B)	 H$mobH$mVm

	 (C)	 h¡Xam~mX
	 (D)	 ^monmb

	127.	 Bg amÁ` H$s nm±Mdr {dYmZ g^m _| CnmÜ`j 
H$m¡Z h¢ ?

	 (A)	 _ZmoO qgh _§S>mdr
	 (B)	 {dH«$_ _§S>mdr
	 (C)	 B§Ðemh _§S>mdr
	 (D)	 _mohZ _aH$m_

	128.	 ŷbZ H$m§Xm CnÝ`mg Ho$ boIH$ {ZåZ _| go H$m¡Z h¢ ?

	 (A)	 _ZmoO d_m©
	 (B)	 g§Ord ~»er
	 (C)	 {dZmoX Hw$_ma ewŠbm
	 (D)	 A{^foH$ AJ«dmb

	129.	 {ZåZ _| go H$m¡Z ~ñVa H$s Z¥Ë` e¡br Zht h¡ ?

	 (A)	 PrabrQ>r	 (B)	 H$H$gma
	 (C)	 Jm¡a	 (D)	 ahg

	130.	 {ZåZ _| go H$m¡Z-gm ŠdmS> Xoem| H$m g_yh h¡ ?

	 (A)	 A_o[aH$m, OmnmZ, AmñQ´>o{b`m, {~«Q>oZ

	 (B)	 ^maV, A_o[aH$m, AmñQ´>o{b`m, O_©Zr

	 (C)	 A_o[aH$m, ^maV, \«$m§g, AmñQ´>o{b`m

	 (D)	 OmnmZ, ^maV, A_o[aH$m, AmñQ´>o{b`m
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	131.	 Panjshir valley is the province of which 
of the following country ?

	 (A)	 Turkmenistan
	 (B)	 Iran
	 (C)	 Afghanistan
	 (D)	 Uzbekistan

	132.	 What is the rank of this State in Ease 
of doing Business as on 2019 ?

	 (A)	 Fourth	 (B)	 Sixth

	 (C)	 Fifth	 (D)	 Eighth

	133.	 Who amongst the following is present 
Chief Election Commissioner of India ?

	 (A)	 Sushil Chandra
	 (B)	 Sunil Arora
	 (C)	 Om Prakash Rawat
	 (D)	 None of the above

	134.	 Which State has minimum number of 
seats for Legislative Assembly Election 
declared in 2022 ?

	 (A)	 Punjab
	 (B)	 Uttarakhand
	 (C)	 Manipur
	 (D)	 Goa

	135.	 Development of Covaxin is based on 
which of the following ?

	 (A)	 Viral vector

	 (B)	 Inactivated virus

	 (C)	 Protein

	 (D)	 R.N.A.

	131.	 n§Oera KmQ>r {ZåZ _| go {H$g Xoe H$m àm§V h¡ ?

	 (A)	 VwH©$_oZrñVmZ
	 (B)	 BamZ
	 (C)	 A\$Jm{ZñVmZ
	 (D)	 CµO~o{H$ñVmZ

	132.	 2019 _| BO Am°\$ Sy>BªJ {~OZog _| Bg amÁ` H$m 
H«$_ H$m¡Z-gm h¡ ?

	 (A)	 Mm¡Wm	 (B)	 N>R>dm±
	 (C)	 nm±Mdm	 (D)	 AmR>dm±

	133.	 {ZåZ _| go H$m¡Z dV©_mZ _| ^maV Ho$ _w»` MwZmd 
Am`wŠV h¢ ?

	 (A)	 gwerb MÝÐm
	 (B)	 gw{Zb Aamoam
	 (C)	 Amo_ àH$me amdV
	 (D)	 CnamoŠV _| go H$moB© Zht

	134.	 2022 _| Kmo{fV {dYmZ g^m MwZmdm| _| {H$g amÁ` 
H$s grQ>m| H$s g§»`m g~go H$_ h¡ ?

	 (A)	 n§Om~
	 (B)	 CÎmamI§S>
	 (C)	 _Urnwa
	 (D)	 Jmodm

	135.	 H$mod¡pŠgZ H$m {Z_m©U {ZåZ _| go {H$g na 
AmYm[aV h¡ ?

	 (A)	 {dfmUw dmhH$

	 (B)	 {ZpîH«$` {dfmUw
	 (C)	 àmoQ>rZ
	 (D)	 Ama.EZ.E.
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	136.	 In which of the following location, 
development of man-made forest is 
proposed in this State ?

	 (A)	 Bilaspur	 (B)	 Durg
	 (C)	 Raigarh	 (D)	 Dhamtari

	137.	 Dutee Chand honoured by Veerni 
award of this State is associated with 
which sports ?

	 (A)	 Boxing	 (B)	 Archery

	 (C)	 Weight lifting	 (D)	 Sprinting

	138.	 Who amongst the following Rajya 
Sabha member was awarded by 
Sansad Ratna award, 2020 ?

	 (A)	 Saroj Pandey

	 (B)	 Chhaya Verma
	 (C)	 Phulo Devi Netam
	 (D)	 K.T.S. Tulsi

	139.	 I.H.U. variant of Corona virus was 
detected in which country ?

	 (A)	 France	 (B)	 Britain

	 (C)	 South Africa	 (D)	 India

	140.	 Which of the following is a member of 
New Development bank of BRICS ?

	 (A)	 Bangladesh, Uruguay

	 (B)	 Bangladesh, UAE

	 (C)	 Bangladesh, Egypt

	 (D)	 All of the above

	136.	 Bg amÁ` _| _mZd {Z{_©V O§Jb Ho$ {Z_m©U H$s ̀ moOZm 
{ZåZ _| go {H$g ñWmZ na àñVm{dV h¡ ?

	 (A)	 {~bmgnwa	 (B)	 XþJ©
	 (C)	 am`J‹T>	 (D)	 Y_Var

	137.	 Bg amÁ` Ho$ draZr nwéñH$ma go gå_m{ZV XþVr M§X 
H$m g§~§Y {H$g Iob go h¡ ?

	 (A)	 _wŠHo$~mOr	 (B)	 Vra§XmOr
	 (C)	 ^mamoÎmmobZ	 (D)	 Xm¡‹S>

	138.	 g§gX aËZ nwéñH$ma, 2020 go {ZåZ _| go {H$g 
amÁ`g^m gXñ` H$mo gå_m{ZV {H$`m J`m ?

	 (A)	 gamoO nm§S>o
	 (B)	 N>m`m d_m©
	 (C)	 \y$bmo Xodr ZoVm_
	 (D)	 Ho$.Q>r.Eg. Vwbgr

	139.	 H$moamoZm {dfmUw H$m AmB©.EM.`y. do[a`|Q> H$m nVm 
{H$g Xoe _| Mbm ?

	 (A)	 \«$mÝg	 (B)	 {~«Q>oZ
	 (C)	 X{jU A\«$sH$m	 (D)	 ^maV

	140.	 {ZåZ _| go H$m¡Z {~«Šg Ho$ Ý`y S>odbn_|Q> ~¢H$ H$m 
gXñ` h¡ ?

	 (A)	 ~m§½bmXoe, Cê$½do

	 (B)	 ~m§½bmXoe, `y.E.B©.

	 (C)	 ~m§½bmXoe, {_g«

	 (D)	 CnamoŠV g^r
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	141.	 Which is the venue of the ICC U19 
World Cup Cricket Tournament, 2022 ?

	 (A)	 West Indies	 (B)	 Australia
	 (C)	 South Africa	 (D)	 New Zealand

	142.	 India has manufactured the Brahmos 
missile in association with which of the 
following country ?

	 (A)	 America

	 (B)	 France

	 (C)	 Russia

	 (D)	 Israel

	143.	 Who won the 2022 India open 
Badminton tournament ?

	 (A)	 Srikanth Kidambi

	 (B)	 B. Sai Praneeth

	 (C)	 Sameer Verma

	 (D)	 Lakshya Sen

	144.	 Where the foundation stone was laid 
for the establishment of Major Dhyan 
Chand Sports University ?

	 (A)	 Mumbai	 (B)	 New Delhi
	 (C)	 Meerut	 (D)	 Pune

	145.	 In 2021, Ramesh Bais of this State 
became Governor of which State ?

	 (A)	 Tripura
	 (B)	 Jharkhand
	 (C)	 Manipur
	 (D)	 Odisha

	141.	 AmB©.gr.gr. A§S>a 19 {díd H$n {H«$Ho$Q> à{VñnYm©, 
2022 H$m Am`moOZ ñWb H$m¡Z-gm h¡ ?

	 (A)	 doñQ> B§{S>O	 (B)	 AmñQ´>o{b`m
	 (C)	 X{jU A\«$sH$m	 (D)	 Ý`yµOrb¢S>

	142.	 ^maV Zo {ZåZ _| go {H$g Xoe Ho$ gmW {_bH$a ~«÷mog 
{_gmBb ~Zm`m h¡ ?

	 (A)	 A_o[aH$m

	 (B)	 \«$m§g

	 (C)	 ê$g

	 (D)	 BµOamBb

	143.	 2022 H$m B§{S>`m AmonZ ~¡S>q_Q>Z à{V`mo{JVm 
{H$gZo OrVr ?

	 (A)	 lrH$m§V {H$Xm§~r

	 (B)	 ~r. gmB© àZrW

	 (C)	 g_ra d_m©

	 (D)	 bú` goZ

	144.	 _oOa Ü`mZM§X Iob {díd{dÚmb` H$s ñWmnZm Ho$ 
{bE AmYma {ebm H$hm± aIr JB© ?

	 (A)	 _w§~B©	 (B)	 ZB© {Xëbr
	 (C)	 _oaR>	 (D)	 nyUo

	145.	 2021 _| Bg amÁ` Ho$ a_oe ~¡g {H$g amÁ` Ho$ 
amÁ`nmb ~Zm`o J`o ?

	 (A)	 {Ìnwam
	 (B)	 PmaI§S>
	 (C)	 _Urnwa
	 (D)	 Amo{‹S>em
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	146.	 Who amongst the following is Director 
of the film Bhulan the Maze ?

	 (A)	 Anurag Basu
	 (B)	 Sanjeev Bakhsi
	 (C)	 Manoj Verma
	 (D)	 Manu Nayak

	147.	 Aim of Chirag Project is to provide 
benefits to which of the following ?

	 (A)	 Students
	 (B)	 Farmers
	 (C)	 Laborer
	 (D)	 All of the above

	148.	 Who won the first prize in National 
Tribal dance festival organized by this 
State, in the year 2021 ?

	 (A)	 Jharkhand	 (B)	 Odisha
	 (C)	 Assam	 (D)	 Chhattisgarh

	149.	 Which award/honour was given to 
Kumari Rohini Sahu in 2021’s Rajya 
Alankaran ?

	 (A)	 Rajeshwari Karuna Mata award
	 (B)	 Mini mata Honour
	 (C)	 Gundadhur Honour
	 (D)	 Smt. Bilasa bai Kevtin award

	150.	 Which Scheme of this State is named 
after Dr. Khoob Chand Baghel ?

	 (A)	 Kisan Nyay
	 (B)	 Godhan Nyay
	 (C)	 Health Aid
	 (D)	 Van Mitan

	146.	 ^ybZ X _oO {\$ë_ Ho$ {ZX}eH$ {ZåZ _| go H$m¡Z h¢ ?

	 (A)	 AZwamJ ~mgw
	 (B)	 g§Ord ~»gr
	 (C)	 _ZmoO d_m©
	 (D)	 _Zw Zm`H$

	147.	 {MamJ `moOZm H$m CÔoí` {ZåZ _| go {H$go bm^ 
{XbmZm h¡ ?

	 (A)	 {dÚmWu
	 (B)	 {H$gmZ
	 (C)	 _µOXÿa
	 (D)	 CnamoŠV g^r

	148.	 2021 _| Bg amÁ` Ûmam Am`mo{OV amîQ́>r` Am{Xdmgr 
Z¥Ë` _hmoËgd _| {H$go àW_ nwéñH$ma àmßV hþAm ?

	 (A)	 PmaI§S>	 (B)	 Amo{S>em
	 (C)	 Ag_	 (D)	 N>ËVrgJ‹T>>

	149.	 2021 Ho$ amÁ` Ab§H$aU _| H$m¡Z-gm gå_mZ/
nwéñH$ma Hw$_mar amo{hUr gmhÿ H$mo {X`m J`m ?

	 (A)	 amOoídar H$éUm _mVm nwéñH$ma
	 (B)	 {_Zr _mVm gå_mZ
	 (C)	 Jw§S>mYya gå_mZ
	 (D)	 lr_Vr {dbmgm ~mB© H|$dQ>rZ nwéñH$ma

	150.	 Bg amÁ` H$s H$m¡Z-gr `moOZm H$m Zm_ S>m°. Iy~M§X 
~Kob Ho$ Zm_ na aIm J`m h¡ ?

	 (A)	 {H$gmZ Ý`m`
	 (B)	 JmoYZ Ý`m`
	 (C)	 ñdmñÏ` ghm`Vm
	 (D)	 dZ {_VmZ
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	151.	 In which price, the general family is 
provided rice under PDS in this State ?

	 (A)	 Rupee 1/- per kilo

	 (B)	 Rs. 3/- per kilo
	 (C)	 Rs. 10/- per kilo
	 (D)	 Rs. 15/- per kilo

	152.	 How many fair price shops are working 
under PDS till November 2020 in this 
State ?

	 (A)	 11149	 (B)	 12451

	 (C)	 15514	 (D)	 4413

	153.	 In which year, Food and Nutrient 
Security Act was constituted in this 
State ?

	 (A)	 2012	 (B)	 2013
	 (C)	 2011	 (D)	 2015

	154.	 Which type of families are given  
2 kgs chana per family per month in 
scheduled and mada area of this State ?

	 I.	 Antyodaya family
	 II.	 Priority family
	 III.	 Independent single family
	 IV.	 None of the above

	 (A)	 I	 (B)	 I and II

	 (C)	 I, II and III	 (D)	 I, II, III and IV

	151.	 Bg amÁ` _| gmd©O{ZH$ {dVaU àUmbr Ho$ AÝVJ©V 
{H$g H$s_V na gm_mÝ` n[adma H$mo Mmdb {X`m 
OmVm h¡ ?

	 (A)	 EH$ én`m à{V {H$bmo

	 (B)	 VrZ én`o à{V {H$bmo

	 (C)	 Xg én`o à{V {H$bmo
	 (D)	 nÝÐh én`o à{V {H$bmo

	152.	 Bg amÁ` _| Zdå~a 2020 VH$ gmd©O{ZH$ {dVaU 
àUmbr Ho$ AÝVJ©V {H$VZo C{MV _yë` H$s XþH$mZ| 
g§Mm{bV h¢ ?

	 (A)	 11149	 (B)	 12451

	 (C)	 15514	 (D)	 4413

	153.	 Bg amÁ` _| ImÚ Ed§ nmofU gwajm A{Y{Z`_ H$m 
{Z_m©U {H$g df© _| {H$`m J`m ?

	 (A)	 2012	 (B)	 2013

	 (C)	 2011	 (D)	 2015

	154.	 Bg amÁ` Ho$ AZwgy{MV Ed§ _mS>m joÌ _| {H$g àH$ma 
Ho$ n[admam| H$mo à{V n[adma 2 {H$bmo MZm à{V _mh 
{X`m OmVm h¡ ?

	 I.	 AÝË`moX` n[adma
	 II.	 àmW{_H$Vm n[adma
	 III.	 EH$b {Zam{lV n[adma
	 IV.	 CnamoŠV _| go H$moB© Zht

	 (A)	 I	 (B)	 I Am¡a II

	 (C)	 I, II Am¡a III	 (D)	 I, II, III Am¡a IV

PART – 2 / ^mJ - 2 
Other / AÝ` 
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	155.	 Which type of families are given 2 kgs 
gur per month in Bastar Division of the 
State ?

	 I.	 Antyodaya families
	 II.	 Priority families
	 III.	 Independent single families
	 IV.	 Annapurna families

	 (A)	 I	 (B)	 I and II
	 (C)	 I, II and III	 (D)	 I, II, III and IV

	156.	 Which of the following language was 
used to program early computers ?

	 (A)	 Basic	 (B)	 COBOL
	 (C)	 Assembly	 (D)	 Machine

	157.	 Data and programs are stored in 
__________ when the processor 
uses them.

	 (A)	 BIOS	 (B)	 Main memory

	 (C)	 Disk memory	 (D)	 Monitor

	158.	 Which of the following is not an output 
device ?

	 (A)	 Barcode Reader	

	 (B)	 Printer

	 (C)	 Plotter

	 (D)	 Flex machine

	159.	 Which of the following device is a shared 
resource in computer network ?

	 (A)	 Keyboard	 (B)	 Printer

	 (C)	 Speaker	 (D)	 All of these

	155.	 amÁ` Ho$ ~ñVa g§^mJ _| {H$g àH$ma Ho$ n[admam| H$mo 
à{V _mh 2 {H$bmo J«m_ Jw‹S> {X`m OmVm h¡ ?

	 I.	 AÝË`moX` n[adma
	 II.	 àmW{_H$Vm n[adma
	 III.	 EH$b {Zam{lV n[adma
	 IV.	 AÝZnyUm© n[adma

	 (A)	 I	 (B)	 I Am¡a II
	 (C)	 I, II Am¡a III	 (D)	 I, II, III Am¡a IV

	156.	 àma§{^H$ Xm¡a Ho$ H$åß ỳQ>am| H$mo àmoJ«m_ H$aZo Ho$ {b ò {ZåZ 
_| go H$m¡Z-gr ^mfm H$m Cn`moJ {H$`m J`m Wm ?

	 (A)	 ~o{gH$	 (B)	 H$mo~mob
	 (C)	 Egoå~br	 (D)	 _erZ

	157.	 S>mQ>m Ed§ àmoJ«m_ __________ _| g§J«{hV hmoVo 
h¢ O~ àmogoga CZH$m Cn`moJ H$aVm h¡ &

	 (A)	 ~m`mog	 (B)	 _oZ _o_moar

	 (C)	 {S>ñH$ _o_moar	 (D)	 _m°{ZQ>a

	158.	 {ZåZ _| go H$m¡Z-gm AmCQ>nwQ> {S>dmB©g Zht h¡ ? 

	 (A)	 ~maH$moS> arS>a	

	 (B)	 qàQ>a

	 (C)	 ßbm°Q>a	

	 (D)	 âboŠg _erZ

	159.	 {ZåZ _| go H$m¡Z-gm {S>dmB©g H$åß`yQ>a ZoQ>dH©$ _| 
EH$ gmPm g§gmYZ h¡ ?

	 (A)	 H$s~moS>©	 (B)	 qàQ>a

	 (C)	 ñnrH$a	 (D)	 CnamoŠV g^r
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	160.	 Identify the correct sentences for a line 
printer.

	 i.	 Prints an entire line at a time.

	 ii.	 It is a non-impact printer.

	 iii.	 It allows multiple copies to be 
taken at a time.

	 iv.	 It prints one character at a time.

	 (A)	 i and ii	 (B)	 i and iii
	 (C)	 ii and iii	 (D)	 iii and iv

	161.	 Under the Consumer Protection Act, 
1986 ‘‘Complainant’’ means

	 (A)	 A consumer
	 (B)	 The Central Govt. and State Govt.

	 (C)	 In case of death of a consumer 
his legal heir

	 (D)	 All of the above

	162.	 Under Sec. 2 (NN) Consumer Protection 
Act, 1986 ‘‘Regulations’’ means

	 (A)	 Regulations made by the National 
Commissions

	 (B)	 Regulations made by the State 
Commissions

	 (C)	 Regulations made by the District 
Forum

	 (D)	 None of the above

	163.	 Under the Consumer Protection Act, 
1986 provision of ‘‘Consumer Disputes 
Redressal Agencies’’ is

	 (A)	 Sec. 9	 (B)	 Sec. 10
	 (C)	 Sec. 11	 (D)	 Sec. 12

	160.	 EH$ bmBZ-qàQ>a Ho$ {b`o ghr dmŠ`m| H$s nhMmZ 
H$a| &

	 i.	 EH$ g_` _| EH$ nyar aoIm (bmBZ) qàQ>  
H$aVm h¡ &

	 ii.	 `h EH$ ZmZ-B§n¡ŠQ> qàQ>a h¡ &
	 iii.	 `h EH$ g_` _| H$B© à{V`m| H$mo boZo H$s 

AZw_{V XoVm h¡ &
	 iv.	 `h EH$ g_` _| EH$ H¡$aoŠQ>a qàQ> H$aVm h¡ &

	 (A)	 i Am¡a ii	 (B)	 i Am¡a iii
	 (C)	 ii Am¡a iii	 (D)	 iii Am¡a iv

	161.	 Cn^moŠVm g§ajU A{Y{Z`_, 1986 Ho$ AÝVJ©V 
"n[admXr' go A{^àoV h¡

	 (A)	 H$moB© Cn^moŠVm
	 (B)	 Ho$ÝÐr` gaH$ma Ed§ amÁ` gaH$ma

	 (C)	 Cn^moŠVm H$s _¥Ë ẁ H$s pñW{V _| CgHo$ {d{YH$ 
dm[ag

	 (D)	 CnamoŠV g^r

	162.	 Cn^moŠVm g§ajU A{Y{Z`_ H$s Ymam 2(NN) _| 
"{d{Z`_' go A{^àoV h¡ 

	 (A)	 amîQ´>r` Am`moJ Ûmam {d{Z{_©V {d{Z`_

	 (B)	 amÁ` Am`moJ Ûmam {d{Z{_©V {d{Z`_

	 (C)	 {Obm nrR> Ûmam {d{Z{_©V {d{Z`_

	 (D)	 CnamoŠV _| go H$moB© Zht

	163.	 Cn^moŠVm g§ajU A{Y{Z`_, 1986 _| ""Cn^moŠVm 
{ddmX à{V`moOH$ A{^H$aU'' H$s ñWmnZm H$m 
àmdYmZ h¡

	 (A)	 Ymam 9	 (B)	 Ymam 10
	 (C)	 Ymam 11	 (D)	 Ymam 12



		  	 02223/GE – GJ/RCE – M

	 -46-	 Set-A

a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

	164.	 Every Appeal under the Section 27 A 
Consumer Protection Act, 1986 shall 
be preferred within a period from the 
date of an order

	 (A)	 15 days	 (B)	 20 days
	 (C)	 30 days	 (D)	 45 days

	165.	 Under the Consumer Protection Act, 
1986 shall be deemed to be a Judicial 
Magistrate for the trial of offences

	 (A)	 I Class

	 (B)	 II Class

	 (C)	 Session Magistrate

	 (D)	 Executive Magistrate

	166.	 At present Kharif year 2020-21 in how 
many Paddy purchase centers paddy 
purchasing from farmers through 
computerized system is done ?

	 (A)	 2510	
	 (B)	 2410
	 (C)	 2310	
	 (D)	 2610

	167.	 How many ration card owners are 
distributed ration materials per month 
under PDS in this state as per their 
eligibility ?

	 (A)	 57.11 Lakh	

	 (B)	 76.11 Lakh

	 (C)	 67.11 Lakh	

	 (D)	 None of these

	164.	 Cn^moŠVm g§ajU A{Y{Z`_, 1986 H$s Ymam 
27 H$ Ho$ VhV àË`oH$ Anrb AmXoe Ho$ {XZm§H$ go 
_____ {Xdgm| H$s Ad{Y Ho$ ^rVa H$s OmEJr &

	 (A)	 15 {Xdg	 (B)	 20 {Xdg
	 (C)	 30 {Xdg	 (D)	 45 {Xdg

	165.	 Cn^moŠVm g§ajU A{Y{Z`_, 1986 Ho$ VhV 
AnamYm| Ho$ narjU Ho$ {bE Ý`m{`H$ XÊS>m{YH$mar 
H$mo _mZm OmEJm 

	 (A)	 àW_ loUr
	 (B)	 {ÛVr` loUr

	 (C)	 goeZ _{OñQ´>oQ>

	 (D)	 H$m`©nmbH$ _{OñQ´>oQ>

	166.	 dV©_mZ Iar\$ df© 2020-21 _| {H$gmZm| go YmZ H$s 
IarXr H$åß`yQ>arH¥$V ì`dñWm go {H$VZo YmZ IarXr 
Ho$ÝÐm| go H$s J`r ?

	 (A)	 2510	

	 (B)	 2410
	 (C)	 2310	
	 (D)	 2610

	167.	 Bg amÁ` _| {H$VZo ameZ H$mS>© Ym[a`m| H$mo CZH$s 
nmÌVmZwgma à{V _mh gmd©O{ZH$ {dVaU àUmbr go 
ameZ gm_m{J«`m| H$m {dVaU {H$`m OmVm h¡ ?

	 (A)	 57.11 bmI	

	 (B)	 76.11 bmI

	 (C)	 67.11 bmI	
	 (D)	 BZ_| go H$moB© Zht
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	168.	 What percentage of people of this state 
is found eligible to get 5 kgs. food grains 
per member by the National Food 
Security Act ?

	 (A)	 76	 (B)	 77
	 (C)	 78	 (D)	 80

	169.	 Chhattisgarh state is awarded for 
computerization of public distribution 
system 

	 i.	 National e-governance Award
	 ii.	 Manthan Award

	 iii.	 e-India Award
	 iv.	 Prime Minister Award
	 (A)	 I	 (B)	 I and II
	 (C)	 I, II and III	 (D)	 I, II, III and IV

	170.	 What minimum support price for Paddy 
Grade A is fixed by the Government for 
the year 2021-22 ? 

	 (A)	 ` 1,868 per quintal
	 (B)	 ` 1,920 per quintal

	 (C)	 ` 1,888 per quintal

	 (D)	 ` 1,940 per quintal

	171.	 Sec. 14 of Essential Commodities Act, 
1955 related with

	 (A)	 Burden of proof

	 (B)	 Repeals and savings

	 (C)	 Prosecution of Public servant

	 (D)	 Protection of action

	168.	 Bg amÁ` Ho$ {H$VZo à{VeV bmoJm| H$mo amîQ´>r` ImÚ 
gwajm A{Y{Z`_ Ho$ Ûmam à{V gXñ` 5 {H$bmo 
ImÚmÞ àmßV H$aZo H$s nmÌVm Xr J`r h¡ ?

	 (A)	 76	 (B)	 77
	 (C)	 78	 (D)	 80

	169.	 N>ÎmrgJ‹T> amÁ` H$mo gmd©O{ZH$ {dVaU àUmbr H$m 
H$åß`yQ>arH¥$V H$aZo Ho$ {bE nwañH$ma àmßV hþE h¡ 

	 i.	 ZoeZb-B© JdZ]g AdmS>©
	 ii.	 _§WZ AdmS>©
	 iii.	 B©-B§{S>`m AdmS>©
	 iv.	 àYmZ_§Ìr nwañH$ma
	 (A)	 I	 (B)	 I Am¡a II
	 (C)	 I, II Am¡a III	 (D)	 I, II, III Am¡a IV

	170.	 df© 2021-22 Ho$ {bE gaH$ma Ho$ Ûmam YmZ J«oS> A 
Ho$ {bE Ý`yZV_ g_W©Z _yë` Š`m {ZYm©[aV {H$`m 
J`m h¡ ?

	 (A)	 ` 1,868 à{V pŠd¨Q>b
	 (B)	 ` 1,920 à{V pŠd¨Q>b

	 (C)	 ` 1,888 à{V pŠd¨Q>b

	 (D)	 ` 1,940 à{V pŠd¨Q>b

	171.	 Amdí`H$ dñVw A{Y{Z`_, 1955 H$s Ymam 14 

g§~§{YV h¡ 

	 (A)	 g~yV H$m ^ma

	 (B)	 {ZagZ VWm ì`md¥{Îm`m±

	 (C)	 bmoH$ godH$ H$m A{^`moOZ

	 (D)	 H$m`©dmhr Ho$ {bE n[aÌmU
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	172.	 Every such notification issued after 
the commencement of the Essential 
Commodities (Amendment) Act, 
1971 (66 of 1971) shall unless sooner 
rescinded, cease to operate at the 
expiration of how many years after the 
publication of such notification in the 
official gazette ?

	 (A)	 One year	

	 (B)	 Two years

	 (C)	 Three years	

	 (D)	 Four years

	173.	 Under the Essential Commodities Act, 

1955 power to try summarily is

	 (A)	 Sec. 12	

	 (B)	 Sec. 12-A

	 (C)	 Sec. 12-B	

	 (D)	 Sec. 13

	174.	 The Section of “Presumption as to 

orders’’ under the Essential Commodities 

Act, 1955 is

	 (A)	 Sec. 12

	 (B)	 Sec. 13

	 (C)	 Sec. 14

	 (D)	 Sec. 15

	172.	 Amdí`H$ dñVw (g§emoYZ) A{Y{Z`_, 1971 (1971 

H$m 66) Ho$ àma§̂  Ho$ níMmV² {ZH$mbr JB© ha Eogr 

A{YgyMZm O~ VH$ dh nhbo hr {dIpÊS>V Z H$a Xr 

OmE & amOnÌ _| Cg A{YgyMZm Ho$ àH$meZ Ho$ níMmV² 

{H$VZo df© Ho$ AdgmZ na àd¥Îm Z ah OmEJr ?

	 (A)	 EH$ df©	

	 (B)	 Xmo df©

	 (C)	 VrZ df©	

	 (D)	 Mma df©

	173.	 Amdí`H$ dñVw A{Y{Z`_, 1955 _| g§jonV: 

{dMmaZ H$s epŠV h¡

	 (A)	 Ymam 12	

	 (B)	 Ymam 12 H$

	 (C)	 Ymam 12 I	

	 (D)	 Ymam 13

	174.	 Amdí`H$ dñVw A{Y{Z`_, 1955 _| ""AmXoem| Ho$ 

~mao _| CnYmaUm'' H$s Ymam h¡

	 (A)	 Ymam 12

	 (B)	 Ymam 13

	 (C)	 Ymam 14

	 (D)	 Ymam 15
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	175.	 Under Sec. 10-C Essential Commodities 
Act, 1955 ‘‘Presumption of culpable 
mental state’’ includes

	 (A)	 Intention

	 (B)	 Motive

	 (C)	 Knowledge of a fact and the 
belief in	

	 (D)	 All of the above

	176.	 Till which date paddy is purchased on 
MSP by this state in the year 2021-22 ?

	 (A)	 15th December

	 (B)	 31st December

	 (C)	 7th February

	 (D)	 31st January

	177.	 From which year rice festival is started 
under PDS in this state ?

	 (A)	 January 2008	

	 (B)	 February 2008

	 (C)	 March 2008	

	 (D)	 April 2008

178.		 From which month “Call Centre” is started 
to increase transparency and people 
participation in PDS in this state ?

	 (A)	 January 2008	 (B)	February 2008

	 (C)	 March 2008	 (D)	April 2008

	175.	 Amdí`H$ dñVw A{Y{Z`_, 1955 H$s Ymam 10-C 
Ho$ AÝVJ©V ""Anam{YH$ _Z: pñW{V H$s CnYmaUm''  
Ho$ AÝVJ©V em{_b h¡ 

	 (A)	 Ame`

	 (B)	 _ÝVì`

	 (C)	 VÏ` H$s OmZH$mar Ed§ {dídmg H$aZo H$m 
H$maU

	 (D)	 CnamoŠV g^r

	176.	 df© 2021-22 _| {H$g {V{W VH$ YmZ H$s IarXr 
Ý ỳZV_ g_W©Z _yë` na Bg amÁ` Ho$ Ûmam H$s J`r ?

	 (A)	 15 {Xgå~a VH$

	 (B)	 31 {Xgå~a VH$

	 (C)	 7 \$adar VH$

	 (D)	 31 OZdar VH$

	177.	 Bg amÁ` _| {H$g df© go gmd©O{ZH$ {dVaU àUmbr 
Ho$ AÝVJ©V Mmdb CËgd àma§^ {H$`m J`m h¡ ?

	 (A)	 OZdar 2008	

	 (B)	 \$adar 2008

	 (C)	 _mM© 2008	

	 (D)	 Aà¡b 2008

	178.	 Bg amÁ` _| gmd©O{ZH$ {dVaU àUmbr _| nmaX{e©Vm 

Ed§ OZ ^mJrXmar ~‹T>mZo ""H$m°b g|Q>a'' {H$g _mh 

go g§Mm{bV {H$`m Om ahm h¡ ? 

	 (A)	 OZdar 2008	 (B)	 \$adar 2008

	 (C)	 _mM© 2008	 (D)	 Aà¡b 2008
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	179.	 From which year ‘Computerization’ in 
PDS is started in this state ?

	 (A)	 2007	 (B)	 2009
	 (C)	 2011	 (D)	 2013

	180.	 From which month ration materials 
are allocated to fair price shops by 
Directorate of food through computer 
in this state ? 

	 (A)	 January 2008		

	 (B)	 April 2008

	 (C)	 January 2009	

	 (D)	 April 2009

	181.	 Under the Consumer Protection Act 
office of the District forum shall be

	 (A)	 District Headquarter
	 (B)	 State Headquarter
	 (C)	 Above (A) and (B) both

	 (D)	 None of the above

	182.	 Consumer Protection (Amendment) 
Act was enacted 

	 (A)	 2000	 (B)	 2002
	 (C)	 2004	 (D)	 2006

	183.	 Under Consumer Protection Act, 1986 
the section related with “Service of 
notice etc.” 

	 (A)	 Sec. 27A	 (B)	 Sec. 28
	 (C)	 Sec. 28A	 (D)	 Sec. 29

	179.	 Bg amÁ` _| gmd©O{ZH$ {dVaU àUmbr _| 
H$åß`yQ>arH$aU {H$g df© go àma§^ {H$`m J`m h¡ ?

	 (A)	 2007	 (B)	 2009
	 (C)	 2011	 (D)	 2013

	180.	 Bg amÁ` _| H$åß`yQ>a Ho$ _mÜ`_ go C{MV _yë` Ho$ 
Xw>H$mZm| H$mo ImÚ g§MmbZmb` Ho$ Ûmam ImÚ {dVaU 
H$m Amd§Q>Z {H$g _mh go {H$`m Om ahm h¡ ? 

	 (A)	 OZdar 2008	

	 (B)	 Aà¡b 2008

	 (C)	 OZdar 2009	

	 (D)	 Aà¡b 2009

	181.	 Cn^moŠVm g§ajU A{Y{Z`_ Ho$ VhV {Obm \$moa_ 
H$m H$m`m©b` hmoJm

	 (A)	 {Obm _w»`mb`

	 (B)	 amÁ` _w»`mb`
	 (C)	 CnamoŠV (A) Ed§ (B) XmoZm| 
	 (D)	 CnamoŠV _| go H$moB© Zht

	182.	 Cn^moŠVm g§ajU (g§emoYZ) A{Y{Z`_ nm[aV 
{H$`m J`m

	 (A)	 2000	 (B)	 2002
	 (C)	 2004	 (D)	 2006

	183.	 Cn^moŠVm g§ajU A{Y{Z`_, 1986 _| ""gyMZm 
BË`m{X H$s Vm_rbr'' go g§~§{YV Ymam h¡

	 (A)	 Ymam 27 H$	 (B)	 Ymam 28

	 (C)	 Ymam 28 H$	 (D)	 Ymam 29
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	184.	 The cost of fine in the frivolous or 
vexations complaints shall

	 (A)	 Rs. 5,000/-	

	 (B)	 Rs. 10,000/-

	 (C)	 Rs. 20,000/-	

	 (D)	 Rs. 50,000/-

	185.	 District Forum, State Commission or 
the National Commission may order 
not complying with such order to be

	 (A)	 Property of the person to be 
attached

	 (B)	 The property attached may be sold
	 (C)	 Above (A) and (B) both
	 (D)	 Fine

	186.	 How many types of families are given 
foodgrains under PDS in the State ?

	 (A)	 3	 (B)	 4
	 (C)	 5	 (D)	 6

	187.	 Which institution declares the minimum 
support prices of agricultural produces ?

	 (A)	 Commission for Agricultural costs 
and produces

	 (B)	 Cabinet committee of economic 
issues of Govt. of India

	 (C)	 Ministry of Agriculture, Govt. of 
India

	 (D)	 State Governments

	184.	 ì`W© `m V§J H$aZo dmbo n[admXm| _| hOm©Zo H$s am{e 
hmoJr 

	 (A)	 é. 5,000/-	

	 (B)	 é. 10,000/-

	 (C)	 é. 20,000/-

	 (D)	 é. 50,000/-

	185.	 {Obm \$moa_, amÁ` Am`moJ ̀ m amîQ́>r` Am`moJ AmXoe 
H$m AZwnmbZ Zht H$aZo dmbo ì`pŠV H$mo AmXoe Xo 
gHo$Jm 

	 (A)	 ì`pŠV H$s g§n{Îm Hw$H©$ {H$E OmZo H$m

	 (B)	 Hw$H©$ H$s JB© g§n{Îm H$mo ~oMm Om gHo$Jm
	 (C)	 CnamoŠV (A) Ed§ (B) XmoZm|
	 (D)	 Ow_m©Zm

	186.	 amÁ` _| gmd©O{ZH$ {dVaU àUmbr Ho$ AÝVJ©V {H$VZo 
àH$ma Ho$ n[admam| H$mo ImÚmÝZ {X`m OmVm h¡ ?

	 (A)	 3	 (B)	 4
	 (C)	 5	 (D)	 6

	187.	 H$m¡Z-gr g§ñWm H¥${f CnOm| H$m Ý ỳZV_ g_W©Z _yë` 
Kmo{fV H$aVr h¡ ?

	 (A)	 H¥${f CnO Ed§ _yë` Am`moJ

	 (B)	 ^maV gaH$ma Ho$ Am{W©H$ _m_bm| H$s Ho${~ZoQ> 
g{_{V

	 (C)	 ^maV gaH$ma Ho$ H¥${f _§Ìmb`

	 (D)	 amÁ` gaH$ma|
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	188.	 Which agricultural crops are purchased at 
MSP by the Chhattisgarh Government ?

	 I.	 Paddy
	 II.	 Maize

	 III.	 Ragi

	 IV.	 Wheat

	 (A)	 I

	 (B)	 I and II

	 (C)	 I, II and III

	 (D)	 I, II, III and IV

	189.	 Which food item has negative trend 
in purchase under PDS in this state 
during 2018-19 to 2020-21 ?

	 (A)	 Rice
	 (B)	 Sugar
	 (C)	 Salt
	 (D)	 Chana

	190.	 Which cereals has maximum MSP per 
quintal in the year 2021-22 ?

	 (A)	 Paddy	 (B)	 Bajra

	 (C)	 Maize	 (D)	 Ragi

	191.	 under Consumer Protection Act, 
internal grievance redressal mechanism 
includes

	 (A)	 Call centres	
	 (B)	 Helplines
	 (C)	 Nodal officers	
	 (D)	 All of the above

	188.	 N>ÎmrgJ‹T> gaH$ma Ho$ Ûmam Ý`yZV_ g_W©Z _yë` na 
{H$Z H¥${f \$gbm| H$m CnmO©Z {H$`m OmVm h¡ ?

	 I.	 YmZ
	 II.	 _ŠH$m

	 III.	 amJr

	 IV.	 Johÿ±

	 (A)	 I

	 (B)	 I Am¡a II

	 (C)	 I, II Am¡a III

	 (D)	 I, II, III Am¡a IV

	189.	 gmd©O{ZH$ {dVaU àUmbr Ho$ AÝVJ©V Bg amÁ` _| 
2018-19 go df© 2020-21 VH$ {H$g ImÚ nXmW© 
H$s IarXXmar _| F$UmË_H$ àd¥{Îm h¡ ?

	 (A)	 Mmdb

	 (B)	 eŠH$a

	 (C)	 Z_H$
	 (D)	 MZm

	190.	 df© 2021-22 _| {H$g AZmO H$m Ý`yZV_ g_W©Z 
_yë` g~go A{YH$ h¡ ?

	 (A)	 YmZ	 (B)	 ~mOam

	 (C)	 _ŠH$m	 (D)	 amJr

	191.	 Cn^moŠVm g§ajU A{Y{Z`_ Ho$ AÝVJ©V Am§V[aH$ 
{eH$m`V {ZdmaU àUmbr _| em{_b h¡

	 (A)	 H$m°b goÝQ>a	
	 (B)	 hoënbmBZ
	 (C)	 ZmoS>b A{YH$mar	
	 (D)	 CnamoŠV g^r
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	192.	 The National Food Security Act shall be 
deemed to have come into force on the

	 (A)	 15th August 2013
	 (B)	 5th July 2013
	 (C)	 24th June 2013
	 (D)	 20th December 2013

	193.	 The National Food Security Act, 2013 
consists ________ schedules.

	 (A)	 Five	 (B)	 Four
	 (C)	 Three	 (D)	 Two

	194.	 Schedule 2 of National food Security 
Act, 2013 related with

	 (A)	 Nutritional standards
	 (B)	 Subsidised prices

	 (C)	 Provisions for food security

	 (D)	 Allocation of food grains

	195.	 The State Food Commission shall 
constitute by

	 (A)	 Central Government
	 (B)	 Local bodies
	 (C)	 State Government
	 (D)	 None of the above

	196.	 The National Commission shall have 
administrative control over all the State 
Commissions

	 (A)	 Pendency of cases
	 (B)	 Issuance of instructions regarding 

hearing
	 (C)	 Generally overseeing
	 (D)	 All of the above

	192.	 amîQ́>r` ImÚ gwajm A{Y{Z`_ _________| àd¥Îm 
hþAm g_Pm OmEJm &

	 (A)	 15 AJñV 2013
	 (B)	 5 OwbmB© 2013
	 (C)	 24 OyZ 2013
	 (D)	 20 {X>g§~a 2013

	193.	 amîQ́>r` ImÚ gwajm A{Y{Z`_, 2013 _| ______ 
AZwgy{M`m± h¡§ &

	 (A)	 nm°§M	 (B)	 Mma
	 (C)	 VrZ	 (D)	 Xmo

	194.	 amîQ́>r` ImÚ gwajm A{Y{Z`_, 2013 H$s AZwgyMr 2 
g§~§{YV h¡

	 (A)	 nmofU _mZH$	

	 (B)	 ghm`VmàmßV H$s_Vo§
	 (C)	 ImÚ gwajm Cn~§Y	

	 (D)	 ImÚmÝZmo§ H$m Am~§Q>Z

	195.	 amÁ` ImÚ Am`moJ H$m JR>Z H$aoJr

	 (A)	 Ho$ÝÐ gaH$ma
	 (B)	 ñWmZr` {ZH$m`
	 (C)	 amÁ` gaH$ma
	 (D)	 CnamoŠV _| go H$moB© Zht

	196.	 amîQ´>r` Am`moJ g^r amÁ` Am`moJm| na àemg{ZH$ 
{Z`§ÌU aIoJm

	 (A)	 àH$aUm| Ho$ b§{~V hmoZo na
	 (B)	 gwZdmB© Ho$ g§~§Y _| {ZX}e Omar H$aZm

	 (C)	 gm_mÝ`V: {ZarjU
	 (D)	 CnamoŠV g^r
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	197.	 Under Consumer Protection Act, 
District Forum, State Commission and 
National Commission shall not admit 
a complainant unless it is filed within 
_______ from the date on which the 
cause of action has arisen.

	 (A)	 One year	
	 (B)	 Two years
	 (C)	 Three years	
	 (D)	 Four years

	198.	 The National Commission shall 
function at

	 (A)	 New Delhi	
	 (B)	 Mumbai
	 (C)	 Kolkata	
	 (D)	 All of the above

	199.	 The salary, honorarium and other 
allowances of the members of 
the National Commission shall be 
prescribed by the

	 (A)	 Central Govt.	
	 (B)	 President
	 (C)	 Supreme Court	
	 (D)	 Lok Sabha

	200.	 The jurisdiction of the National 
Commission shall have

	 (A)	 Rs. One crore	
	 (B)	 Rs. Ten lakh
	 (C)	 Rs. 50 lakh	
	 (D)	 Rs. 10 crore

	197.	 Cn^moŠVm g§ajU A{Y{Z`_ _| {Obm nrR>, amÁ` 

Am`moJ VWm amîQ´>r` Am`moJ dmX H$maU CËnÝZ hmoZo 

Ho$ ____ níMmV² n[admX J«hU Zht H$aoJm &

	 (A)	 EH$ df©	
	 (B)	 Xmo df©
	 (C)	 VrZ df©	
	 (D)	 Mma df©	

	198.	 amîQ´>r` Am`moJ H$m`© H$aoJm 

	 (A)	 ZB© {Xëbr	
	 (B)	 _w§~B©
	 (C)	 H$mobH$mVm	
	 (D)	 CnamoŠV g^r

	199.	 amîQ´>r` Am`moJ Ho$ gXñ`m| Ho$ doVZ, _mZXo` VWm 
AÝ` ^Îmo {d{hV {H$E OmE±Jo

	 (A)	 Ho$ÝÐr` gaH$ma Ûmam
	 (B)	 amîQ´>n{V Ûmam
	 (C)	 CÀMV_ Ý`m`mb` Ûmam
	 (D)	 bmoH$g^m Ûmam

	200.	 amîQ´>r` Am`moJ H$s A{YH$m[aVm hmoJr

	 (A)	 1 H$amo‹S> énE	
	 (B)	 10 bmI énE
	 (C)	 50 bmI énE	
	 (D)	 10 H$amo‹S> énE
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    SET –  A 

CÎma A§{H$V H$aZo H$m g_` :            3 K§Q>o	 A{YH$V_ A§H$ : 200

Time for marking answers : 3 Hours	 Maximum Marks : 200

ZmoQ> :

1.	 Bg àíZ nwpñVH$m _| {ZåZ ^mJ hmoJ| :-
	 1.	 gm_mÝ` kmZ (150 A§H$)
	 (i)	J{UV, {dkmZ, ^maVr` B{Vhmg, ^yJmob, ^maVr` AW©ì`dñWm, ^maVr` g§{dYmZ Ed§ amÁ` go gå~§{YV gm_mÝ` 

OmZH$mar &
	 (ii)	dV©_mZ H$s g_gm_{`H$ KQ>ZmE± &
	 2.	 AÝ` (50 A§H$)
		  Amdí`H$ dñVw A{Y{Z`_ 1955, Cn^moŠVm g§ajU A{Y{Z`_ 2019, amîQ´>r` ImÚ gwajm A{Y{Z`_ 2013 Ed§ 

N>ÎmrgJ‹T> ImÚ  Ed§ nmofU gwajm A{Y{Z`_ 2012 go g§~§{YV OmZH$mar, {dHo$ÝÐrH¥$V ImÚmÝZ CnmO©Z - N>ÎmrgJ‹T> _| 
g_W©Z _yë` na YmZ/Mmdb H$m CnmO©Z Ed§ gmd©O{ZH$ {dVaU àUmbr Ho$ A§VJ©V {dVaU, N>ÎmrgJ‹T> _| ImÚ gwajm Am¡a 
gmd©^m¡_ nrS>rEg, N>ÎmrgJ‹T> _| nrS>rEg Ho$ A§VJ©V g§Mm{bV {d{^ÝZ `moOZmE± VWm H$åß`yQ>a H$m gm_mÝ` kmZ &

	 àË`oH$ àíZ 1 A§H$ H$m h¡ & g^r àíZ H$aZo A{Zdm`© h¡ &
2.	 àíZm| Ho$ CÎma Xr JB© OMR CÎma-erQ> (Am§gaerQ>>) na A§{H$V H$s{OE Ÿ&
3.	 JbV CÎma A§{H$V H$aZo na � A§H$ H$mQ>o Om`|Jo &
4.	 {H$gr ^r Vah Ho$ H¡$bHw$boQ>a `m bm°J Q>o~b Ed§ _mo~mBb \$moZ H$m à`moJ d{O©V h¡ Ÿ&
5.	 OMR CÎma-erQ> (Am§gaerQ>) H$m à`moJ H$aVo g_` Eogr H$moB© AgmdYmZr Z H$a|/~aV| {Oggo `h \$Q> Om`o `m Cg_| _mo‹S> 

`m {gbdQ> Am{X n‹S> Om`o {OgHo$ \$bñdê$n dh Iam~ hmo Om`o Ÿ&

Note :
1.	 This Question Booklet consists of Parts namely :-

	 1.	 General Knowledge (150 Marks)
	 (i)	 Mathematics, Science, Indian History, Geography, Indian Economy, Indian Constitution 

and General Knowledge of State.
	 (ii)	 Current Affairs.
	 2.	O ther (50 Marks) :
		  Essential Commodity Act 1955, Consumer Protection Act 2019, National Food Security Act 

2013 and Chhattisgarh Food and Nutrition Security Act 2012 related Knowledge, decentralized 
food procurement – rice procurement on support price in Chhattisgarh and distribution under 
public distribution system and Chhattisgarh Food Security and sovereign PDS, PDS driven 
different plans in Chhattisgarh and General Knowledge of Computer.

	 Each question carries 1 mark. All questions are compulsory. 
2.	 Indicate your answers on the OMR Answer-Sheet provided.
3.	 � mark will be deducted for each wrong answer.
4.	 Use of any type of calculator or log table and mobile phone is prohibited.
5.	 While using Answer-Sheet care should be taken so that the Answer-Sheet does not get torn 

or spoiled due to folds and wrinkles.


